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20168 & =04 LBHSIH AEEAL BAFMY ~ FABAHL
SA AYEAA SARBY
BH: AYE
el BABA LB (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
AgEAL BAHF M 1,642,916 1,775,537 A 132,621
= 22,700
J| 1,425
< 20,354
Al 1,598,437
FalRig==Fs| 1,136,861 1,012,139 124,722
= 22,700
J| 1,425
< 20,354
Al 1,092,382
BAAZ ANEI|IB2H 1,125,220 1,007,782 117,438
= 22,700
< 19,708
Al 1,082,812
M AU AZ S 129,259 78,388 50,871
101 @124l 82,139 15,818 66,321
04 JI2ZtHZ22HEE = 82,139 15,818 66,321
©2l 1 oAt 64,935
ool 250,000 = 1H * 262 * 93 58,500
OC4EE JI2=2E3 6,235
-HLEE= 58,500,000& * 3.035% 1,776
“HIIRSBES 1,776,000& * 6.55% 117
=03 58,500,000& * 4.5% 2,633
-IEEE 58,500,000& * 1.5% 878
-MHEH 58,500,000& * 1.42% 831
OZEF Ot 200,000 * 1Y = 13 200
Oz XA 2tsoled 17,204
Ol 58,400& = 1¥ » 269 * 103 15,184
OC4EE JI2=2E3 1,620
-AH2EE 15,184,000& * 3.035% 461
I RLEE 461,000& = 6.55% 31
=03 15,184,0002 * 4.5% 684
-IEEE 15,184,000& * 1.5% 228
-MHEE 15,184,000& * 1.42% 216
OFE=FtHI 200,000& = 1H » 23| 400
201 Let24d] 17,280 23,210 25,930
01 At 2teltl 17,280 23,210 25,930
OHMHIZZE 60& = 2,0000H 120
ORI AMA M (3B) 1,000& » 2002 *» 38 600
OXEIE=ZH=E 50,000& = 12& 600
osclXzd s 24 600
ONE XM SHMM S 200,000& * 33 600
o=l 3,660
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o AL S
e Ao S AlED|Bt 2= (2 &HH)
= - 4 14
N X8-S (3H) - MEAY - B gﬁ‘&i HR=2
OZ2FEAH2A 90,0008 * 10 900
Oz & NES2EA 90,0008 = 28Y 2,520
OHJAZH 120,000 * 1 « 23| 240
OTEAAN £ Y2
300,0008 » 3 = 12&€ 10,800
ONMUZ2L2 =i H & 150,000& * 64 900
202 044l 14,160 17,760 A 3,600
01 2L I 14,160 17,760 A 3,600
OUYLBAHH X T 0|
20,0003 * 2% * 2 « 128 960
OZ2FZEH2YAF JIE=HH|
20,000& = 11 » 52 » 12& 13,200
203 ¥ 2 = &4 3,000 0 3,000
03 Al 2 =& 2 = X H| 3,000 0 3,000
OBZAHAANY dRFX 3,000,000& 3,000
301 et A= 1,000 1,000 0
01 Al E & A 462 1,000 1,000 0
O&AIIINZ= MU =22 1,000,000 = 1H 1,000
307 QI2t0| & 11,680 20,600 A 8,920
o1 s R=tl 11,680 20,600 A 8,920
oxza 29 5,180
OOFE5MI0I & =0l & X & 2 2F Xl H|
200 = 1,800 2,160
O%B3 2,000,000 2,000
OL2E 1,020
Ol2s8A42E 700,000& 700
-MNESHAS) MEDE(BAHA 2SI
160,000& = 24 320
ostLdds A 29 3,000
[@)Sir— 2,000,000& 2,000
OARZE(stetz 5) 1,000,000 1,000
OXMisA 29 2,000
O%=E 500,000& 500
OLr2E 1,500,000& 1,500
osclxza 29 1,500
OAE(AEXZEAN) 1,000, 000& 1,000
OAQBE(H, MIX2I| WE S)
500,000& 500
BAHAR2Y 389, 194 362,453 26,741
101 e1214| 47,738 42,587 5,151
04 JI2ZtHI22NEE S 47,738 42,587 5,151
OMYRIEAHAR SHEX 19,156
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Ool2t] 48,280 * 1Y = 262 * 128 15,064
O4HEE J|&a82e2 1,606
-AH2AEE 15,064,000 * 3.035% 458
- YL E 458,000& * 6.55% 30
-=01HA= 15,064,000& * 4.5% 678
-18EE 15,064,000& * 1.5% 226
“MTHE S 15,064,000& * 1.42% 214
OY &SIyl 200,000& * 1Y * 23] 400
O=XNEUE 300,000& * 1H 300
g2 48,2803 * 450/365L * 30 1,786
OFUAE JI2tHZ2 2 X+ 28,582
Ool2t] 48,280 * 29¥ x 262 « 108 25,106
O4HEE J|&a82<2 2,676
-AHAEE 25,106,000& * 3.035% 762
“AI|YEE 762,000& * 6.55% 50
-=0l1HA= 25,106,000 * 4.5% 1,130
-18EE 25,106,000& *~ 1.5% 377
“MTHE S 25,106,000& * 1.42% 357
OY &SIyl 200,000& = 23] = 29 800

201 LEr2 Y| 239,275 250,969 A 11,694

01 AFR2t2l bl 120,273 118,880 1,393

OBE2AANZSE & NS HE L TN

10,000& * 1008 =* 53 5,000
OLIJANBE ZEHEY 5,720
Ol al 3,960
-l gt 220,000& * 3F * 43| 2,640
-SE Y3 330,000 * 45 * 13 1,320
Oxz & 220,000 * 1Z * 43| 880
Oolerzte| ol Ot 220,000 * 45 = 13 880
QRANMNRE =SAEX 735
ool 21,000& * 202+ A 420
(OFNE=E] 21,0008 = 10&8fA 210
Oolerzte] 213 It 21,000& * 58 A 105
OZTHMESE 1,770& = 3000 ~ 128 638
O3st&E Al 3HEX 35,000& x 1000 * 43| 1,400
OEEI= 28,600& * 1000 = 43| 1,144
Od4D| 22| 8,820
(@)=Fa 35,000 » 60 » 12& 2,520
O AR 35,000& = 4014 = 128 1,680
(@)=RaPN =N 35,000& * 11004 + 12& 4,620
obld 2elyl 35,000 = 6l » 12& 2,520
OFAAIE 2E2ES 2,000
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©e: B AL RS (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OAN&E o=l M 100,000& *» 203 2,000
OAAZEANB0 e ==2 92,296
O=ReolZdgd(HadsE,§8ELE,CCTVEE) 17,688
224 154,000 = 1A « 128 1,848
LA PN EN 88,000& = 402 * 128 4,224
-2Adaa 88,000& * 110  12& 11,616
OsZIEINBMN =5 130,000& =+ 13l 130
OsZdllotEze x5 (BAHLD)
130,000 = 1A = 12 1,560
OFI|tM 2| e ===2 (20kW 0] &) 10,848
224 480,000& * 1A » 123 5,760
-EAXA(Y4 014,019, 29)
106,000 = 4L = 12 5,088
OFII&Hl HIEMN =22
1,009,000 * 13l 1,009
OAag(gahAlE BE =2
340,000& * 1A + 128 4,080
Oag (a2t s S|
200,000& = 1H 200
O AN&22t g S=H 50,000& 50
OZ+3M =52(8HF&=L) 4,700,000 4,700
O2=XelAlE fIg2el 16,200
-2 9
135,000& 1004 123 16,200
OLPGAIEAIE EIIEA ==&
30,000& * 13 30
OFAN Hallg=52(E2A)
2,359,000& * 1A 123 28,308
OZZgoy AN LS =2
150& = 4,310m = 53| 3,233
OLZdHII =2 Mele==+=2 4,260
LA DN EN 20,000& = 4002 + 128 960
-2Adaa 25,0003 * 11 » 123 3,300
02 =24l 119,002 132,089 A 13,087
oOXIIRS 4,500,000& = 12& 54,000
oONx=ER3 400,000& » 128 4,800
ORdesEs= 30,000& = 12& 360
OJNAMDEIAMAEH (LPG) 30,0008 * 13 30
OMa=Z&A(4H23) 10,0008 * 100€ * 23 2,000
OM=Z 2P A2 (H18])
100,000 * 13l 100
OFIEHA(BEAHAL 10004)
15,000& = 100€ * 13l 1,500
OA YA & 3/ 60,0002 = 13l 60
OXt& = Xl 12,896
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el
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ossx 4,908,000& * 2CH 9,816
O7=x 3,080,000& = 1CH 3,080
OFEAAE S X 22,071
O82Ada 1040t
2,280 = 4,310m" » 10H A 9,827
O8AX A& 6,725
-10& 0l &t 2,280@ * 628m * 30 4,296
-154 0| of 2,968& * 353m" x 1 1,048
-203 0 ot 3,549% * 389m x 1JH 1,381
(OF-FaFSE=2 5,519
-104 0l ot 2,280 * 173m x 5JH A& 1,973
-15 0| &t 2,9683 * 182m x 404 & 2,161
-204 0l ot 3,549& * 195m" x 2JH A 1,385
OA&EH Sl 17,185
Odue)] RAESHI(EHEA L) 11,685
-2 4 (670H) 95,000& = 67CH 6,365
-XlA, &2 A (560) 95,0003 = 5604 5,320
OAOMIIANE RANE=HI(5F)
1,100,000& =+ 5& 5,500
02z &Hl R Xldl 1,000,000& * 4CH 4,000
401 Al HI & 2B 99,231 68,517 30,714
01 A& HI 99,231 68,517 30,714
OMNZEAHA UIIMAICD 4X
13,750,000 * 14 13,750
OMEEHA CCTV &5 HEAY
52,187,000& * 14 52,187
OXZAE SN2 6,828,000& * 14l 6,828
OLF: HMIANE ExAY
1,155,000& * 8IH & 9,240
a0tz s ST HIY MES A
17,226,0002 * 1002 17,226
405 RHoHE S HI 2,950 380 2,570
01 AL EFH S 2,950 380 2,570
o=2cxzgd 835 #Y 2,950
Ox2Ltxz7] 2,200,000& =« 1CH 2,200
Oz 750,000& = 1CH 750
EAXNNL2E 302,506 310,262 ANT,756
201 L2 | 44,206 48,932 N4,726
01 At 2teltl 7,360 12,520 25,160
OA=E ol
1002 * 12,000& * 242 * 13 2,400
OMNRES 200,000& * 4044 * 23] 1,600
OZeHEUH 220,0008 * 28 * 404 * 13 1,760
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oFHAEE 200,000& * 40 = 23] 1,600

02 332494l 36,846 36,412 434
033223 Al 31,200
(OFSPIETa=] 600,000 * 40HA = 128 28,800
OMxxER 30,000& = 4014 = 128 1,440
ORrdgse3 20,000 = 40014 = 128 960
OAZHI (Sl AP A AR AL 5,646
Onld, ot 41 * 250 * 204 * 120€ 5,646

307 212t01 & 258,000 261,000 A 3,000

og¥3ad 258,000 261,000 A 3,000
ogd(oAd2duAXA) 123,000
O EtX 120,000
=1 119,000, 000& 119,000
e 1,000,000& 1,000
ostgd Z 3,000
- = 2,000,000 2,000
-A~8F 1,000,000& 1,000
ool 4,000
[@F=23:19] 2,000
4= 1,000,000& 1,000
-AB2E 1,000,000& 1,000
Oste &l 2,000
%= 1,000,000& 1,000
-85 1,000,000& 1,000
OJIE (A2 A XH) 128,000
OBt 125,000
= 124,000,000 124,000
-AB2E 1,000,000& 1,000
Oste &l 3,000
-4 = 2,000,000& 2,000
-ARE 1,000, 000& 1,000
o=z2 3,000
ogetxz 3,000
%= 2,000,000 2,000
-A83 1,000,000& 1,000

405 XH&HF SHI 300 330 A 30

01 AL 2B F SHI 300 330 A 30
OAIRE2 g44) 300,000& * 1CH 300

BNz ASYE 223,437 214,307 9,130

ST 104,217 95,707 8,510

AP 22| Bl 23,980 23,650 330
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BE: AL B
©e: B AL RS (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OMERES 200,000& * 11004 * 23 4,400
OZHEU 220,0008 * 28 * 11 * 13 4,840
OHAEE 200,000 = 11004 * 23] 4,400
0&= 2AIRL HIIE3 S=
100,000& * 11042 1,100
OBAT2LRYH G HFHLY
30,000 = 14% = 110 A * 23] 9,240
02 2324l 62,912 65,057 A2,145
o0z&E2= & HMA 55,080
OoxIIea(MotEde S X&)
400,0008 * 1104 * 128 52,800
OM+E(2ola%5)R23 600
2N BB N0LEY B
10,0003 = 504 = 128 600
Ods2(&2) 30,0008 » 1Ha » 128 360
OREYERS 10,000& = 11004 « 128 1,320
OdEHI (AIRA S ) 5,082
O=&,20,d88 .52 48
9413 * QAIZE » 5IH A » 1202 5,082
OoHfazUdEH 250,000& » 11002 2,750
03 & Ar2 Z I 17,325 7,000 10,325
CHZBINZZINY 2 17,325
OZA= 50,000& * 110HA * 153 8,250
O8 =% & MW=l
55,000& * 11002 = 153 9,075
301 Lp A 6,600 16,940 £10,340
1M1IIEBELSS 6,600 7,700 A1,100
O2ddzA 2HEAYH g5+
50,000& * 1102 + 128 6,600
307 gl2tol & 106,820 98,860 7,960
01 2224l 106,820 98,860 7,960
OCrZAE 94,700
OZ 4t 5,200,000 = 1JH 4 5,200
O=& 12,000,000& * 1JH 2 12,000
OJ 8,000,000& * 10H A 8,000
o= 6,000,000  1JH 2 6,000
o2 7,000,000& * 1A 7,000
o 7,500,000 = 10H 2 7,500
O &t ok 8,500,000 * 10H 4 8,500
o8 7,500,000 = 10H A 7,500
OF& 11,000,000& = 1JH A 11,000
(OFE~F:! 10,000,000& * 1JH 2 10,000
O&3a2 12,000,000& = 1004 12,000
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oOARE 12,120
OZgAE o %
500,000& * 114 = 23] 11,000
OXNESHAMSI 2el(HEwWE) 1,120
-5 ,20 838 MOF,YEY AW E2
160,000& = 7)HA * 18] 1,120
405 Ko SHI 5,800 2,800 3,000
01 XA 2 FF S| 5,800 2,800 3,000
OXXSE A (2AH) 2,000,000 = 1CH 2,000
ONEI (2, S2,40F)
100,000 = 104 * 30 A 300
O0lsSANMEH 200,000 = 1104 2,200
©CHOIOK E (ALOF) 700,000 ~ 1CH 700
OANRETHE2,E2)
300,000& * 1CH * 2002 600
Bxig NSRRI B4 W= 2,200 2,200 0
& 660
Al 1,540
201 B9 2,200 2,200 0
== 660
Al 1,540
01 AP 22| H| 2,200 2,200 0
OB4 W=t 200,000 = 11&H 2,200
= 660
Al 1,540
BAHIRZ A 8x0ola & 44 574 40,172 4,402
= 13,373
Al 31,201
101 21 214| 44 574 40,172 4,402
= 13,373
Al 31,201
04 JI2ZtHI22NSES 44 574 40,172 4,402
osxXos ol (11y) 4,052,160 * 11H 44 574
= 13,373
Al 31,201
SHE BH2AS AHIA WA AR 34,050 0 34,050
= 22,700
o 5,675
Al 5,675
405 XHo&HF S HI 34,050 0 34,050
= 22,700
o 5,675
Al 5,675
01 XML 2 FF S| 34,050 0 34,050
OBAHANAXZ(HI) 12,750,000 = 1CH 12,750
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HE: ALSZ
Chelt BRAC B AIMIIYRE CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 8,500
= 2,125
Al 2,125
ooz &H(XE ) 21,300
OXNSEAH (2L A0 F2)
2,100,000& =+ 3CH 6,300
= 4,200
< 1,050
Al 1,050
OMEZ2AI (24,20 ,40HF2)
3,750,000 * 4CH 15,000
= 10,000
= 2,500
Al 2,500
224018 6,320 0 6,320
2089z 235t 6,320 0 6,320
201 L2l 6,320 0 6,320
01 At 22l 6,320 0 6,320
OLHdAIHAHE S Xl
10,000& = 1008 *» 53 5,000
OZgH 23 ¥ E 223
220,000& = 6H 1,320
ojofzte| 5,321 4,357 964
| 1,425
< 646
Al 3,250
ozl & NEFZ 3,000 3,000 0
201 LBH2E| 2,000 2,000 0
01 At 2t 2l 2,000 2,000 0
OAMAHOES & A E22
1,000& = 2,0004 2,000
202 Odl 1,000 1,000 0
01 S LHAYI 1,000 1,000 0
O2AHHl, o &= 2 SFHHYI 1,000, 000& 1,000
X S C2ADMAT2 E 1,321 1,357 A 36
| 925
< 396
307 glz2+ol & 1,321 1,357 A 36
| 925
< 396
01 2724l 1,321 1,357 A 36
o222A=2NE 1,321,000& 1,321
| 925
< 396
NSHAMSI EXX& 1,000 0 1,000
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Il 500
< 250
Al 250
307 i+l & 1,000 1,000
| 500
< 250
Al 250
01 2z2L =4l 1,000 1,000
ONSHAMSI 234l 1,000,000 1,000
| 500
= 250
Al 250
HE2IZH(AZEHL BAF M) 506,055 A 257,343
el 2 345,695 N 262,452
ol 2l 345,695 N 262,452
101 124 dl 345,695 N 262,452
01 2= 114,224 A B9, 266
0xV224Y
9,332& * 34Y x 30AI2t = 128 114,224
02 JIEH R 2+ 112,166 A 31,286
OS2 AAN dzgdsTd=
800,000& = 11 » 12& 105,600
OZBSEHYMN =UZR2E 3,691
O+ 11,0723 *= 4 * 4A12F = 10 1,772
Oos4l 6,851& = 7 = 4Al2F » 10 1,919
oHFZH U224 g
7,984 * 18 » 30AI12F » 123 2,875
03 RIAHA2ZZ2HE > 119,305 A 161,900
oger R (3Y) 108,228
od=s(It=a) 67,093
-139 Xt 25,669,080& » 1H 25,670
24 Xt 18,397,530& * 1H 18,398
-9E Xt 23,024,880& » 19H 23,025
o=g 12,055
-tE=g 2,160
i < Xt 40,000 * 3% = 128 1,440
=l 20,0003 = 3H » 123 720
~ZNDRLY (MR, BL22)
9,100% = 3" » 15AI12F » 123 4,914
Rt
30,296,430 / 365 * 3F * 20 4,981
OFEFItHI
67,093,000& / 12& * 60% * 23l 6,710
O= &l 130,000& = 3H = 12& 4,680
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OuWEH| 130,000& * 3Y¥ x 128 4,680
Oo2zay
(67,093,000 = 10%) / 12 = 12€ 6,710
OJLA X &bl 175,000& » 39 » 12& 6,300
O4UEE JI2E232(3Y) 10,807
OA&dEE=Z 101,409,000& * 3.035% 3,078
OIUYEE=2 3,078,000 * 6.55% 202
O=01Hz 101,409,000& *+ 4.5% 4,564
oOnsesd 101,409,000& * 1.5% 1,522
OMEE 101,409,000& * 1.42% 1,441
OL=HI (SelXIS A, 2tSAH) 90,0008 * 3H 270
| 22Z bl 160,360 155,251 5,109
Jl23Hl 160,360 155,251 5,109
201 Bt H | 46,620 46,531 89
01 At 22l Yl 37,128 42,932 N5,804
oJlegesadistsHZd (JI=&8d])
18,000,000& 18,000
CEETLISIEETp 18,144,000 18,144
REEET 984
O 15,000& » 258 * 12& 360
O Xl & X 13,0008 * 45 * 128 624
02 332494l 9,492 3,599 5,893
oRW2 9,492
Ot 270& = 1,500 * 128 4,860
OSII 1,930 * 2008 = 128 4,632
202 (4] 66,840 94,320 N 27,480
01 S LHA YI 15,120 32,400 A 17,280
©J| =& bl 90,000 » 14Y = 128 15,120
02 MY 51,720 61,920 A 10,200
CETET-PEp (=== +
170,000& * 3Y « 12& 6,120
O8HANS $=z2AH F&
200,000& = 19¥ * 12& 45,600
203 ¥R =AY 9,300 14,400 A5,100
01 J|22IHR=XY| 3,300 3,300 0
oBAHAAE 3,300,000 3,300
02 MRt E R =AY 1,440 2,280 A 840
OJ|EN 40,000& * 36Y 1,440
04 ENSI IR =Y 4,560 5,820 A 1,260
OPJES 4,560
03021 0olat 350,000& = 12& 4,200
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
MAEEAHA AUASE Y 6,212,729 5,105,195 1,107,534
= 76,566
Xl 162,360
Jl 2,207,958
& 729,874
Al 3,035,971
ALS A 5,684,541 5,105,195 579,346
= 76,566
Xl 162,360
J| 2,207,958
& 729,874
Al 2,507,783
SBAHASAIEI| R HF 240,612 136,848 103,764
= 8,500
o 2,125
Al 229,987
BAHA2Y 55,956 0 55,956
201 et 55,956 0 55,956
01 AFR 2t 2| bl 4,680 0 4,680
OIEH (BAYM2ZRE) 90,000& = 20 1,800
OAA2290 et == 2,880
OZgHdHIISsSHel =2
120,000 = 14 = 12€ 1,440
OMITHAOIEY B2 HsY EF442
500,000 = 23| 1,000
OHfEMdHel =2 110,000 = 43| 440
02 E2=2=24%H| 51,276 0 51,276
OUEHANE SRS
40,0008 = 204 ~ 12& 960
ONMSAESAIHAABH
110,000& = 10HA * 13 110
O xR XYl 45,206
OoOssEX 4,908,000& = 70CH 34,356
O& &t 6,551,000€ = 1CH 6,551
O EX 4,299,000 = 1CH 4,299
O2° 2 & HlI KXYl 5,000
OBAHA, TABAHAXA 1,000,000& = 504 5,000
CABAHIASH 171,906 136,848 35,058
101 21 214| 93,762 93,687 75
04 JI2tHI22XNSES 93,762 93,687 75
OUYES W&A Q2H] 93,762
OO0l &AL 2te] O A
250,000& * 1€ » 262 = 128 78,000
OHLeEEsEL2 78,000,000€ * 3.035% 2,368
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SEPFFEEEEEE]
2,368,000& * 6.55% 156
O=UH3RES3 78,000,000& * 4.5% 3,510
(ONE=30= N g == 78,000,000& = 1.5% 1,170
Ot ER = 78,000,000 * 1.42% 1,108
OFEFOtHI 200,000& = 1H « 23| 400
O=XEAE 300,000& » 1H 300
O& &= 6,750,000 6,750
201 Let24dy] 74,019 39,536 34,483
01 At 22/l 46,959 13,376 33,583
OEgEHNL EES 1,000& * 5008 500
O ZAEACIAY SEEE  1,0008 * 50004 500
od=0IIIsEtH2UHE EE2ES
10,000& * 90H 900
OH2UHs WM HME L oMyl
10,000& * 100% 1,000
OLIE M= JIMZzRAY E2ES
10,0002 * 1004 1,000
OoFeoY AHe E2=  2,0008 * 5000 1,000
OFOH HEMHA 29 1,000
OFUNe2ss A3 MUMESR 45
200,000& * 5& 1,000
OFAZCES 3,916
OclYEl#* 29,000& = 124 « 128 348
OSHEE= 35,0003 = 294 « 128 840
O3JIE &N 3,600& = 8 « 12& 346
OB IIMER 30,0003 = 224 + 128 720
OZgM=F 1,860& = 2001 » 123 447
OFAZEA 2 145 81,000& * 15& 1,215
O& 2| &eltl 40,0003 * 200 = 12& 960
OUYESE HAHED UPSHIE 2l WA
500,000& * 14 500
OARZEANUHE 2 (SLEAX L) 35,683
OfoZHIEIA+=+2
80,000& = 10HA * 128 960
OFJ|or™ 2| el 443 (20KNOl &)
186,000 » 1HA « 123 2,232
OHI|HH 2 A== 2 (B 2229, 4KW)
131,000& = 1A + 13 131
OsZJigtdae g2
130,000& » 1A « 12& 1,560
OsZJIEIEMN ==
130,000& » 1A « 12& 1,560
OLg(LsHAIE HH W2
200,000& * 1A * 128 2,400




=
=

A& D83

o = ° SE 3 3
n of of
Klo
E
E=]
o o [Te) [Tg] o o
Al <t © © © ©
Ye) (<o) © O ()] (o))
N o NS
WH3r
il
RS
o o (@) o o o o o (e») o (@) o o () () o (@) o Y] Y] o) o Y] o o () o o o o o O v wuw o O v w
o o <t o o o o © — o © ™ <t <t <t <t Y] Lo O [Co) (<] (o)) N~ (o) [de) [de] o o © o 0w O N N 0w O N A
S « S R R e - ® © 6 OV AN NIOI6 6T —|F|¥T T o6 S|~ ®e =N e
aor
<
=
=< mw=<
TR VR | Wow W o © W ol ol ol B & W
N - A A L Y N @ S 8 s 2 8
* * * * * * — o O <
D._—l x J‘_ *x x x x |ﬂ|_ AA_ Jn_ |ﬂ|_ x |Q x x x — — x x
o | 4 % 4 wmwmwd 1%L ! S & B ® W
= S = o o o & s o o o S on o ) 7 m S 4]
Y o 2e 2 S 88 =2 — =< = < S s 8 r ¥ S8
o B = - o * o o - o o - - o o - O
ol g i A % . 0 ol 3 3
= o o — S 1ol
o w8 S i o+
- o <+ s = 1L Bl 3D 31
0 i o <k K4 ]3] < ar Rl
iy Iy — - = 70 "0 =
= 0 M_u M = M B0 <l <
gl N . - o= o T
~ — =] ofll I Al - T O™ zr T D
% = . A_l .m.AH O_l N ol D < ) UAI
1 0 = o o I ST+ s ] o 5 Wo<d il R |
30 B 0of fox K4 < o = ) = A0 &I|E oD o 30 | =
- AWM A T <+ O w R | i L VI = L T Sl
wl O M ok < O R A O |3 Gy ) SR @) Oln
K0 0 © © (@) © © ol © ol |[oT ©
: S S 515 _
H ™ ™

s0




SM: NEBAL ALEED
=X
(==Y iy

HE: ALSZ
Chelt BRAC B AIMIIYRE CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 et ESFH S 12,750 0 12,750
OBAHASIZE 7 12,750,000& = 104 12,750
= 8,500
< 2,125
Al 2,125
Mat H20X3]0] 1,265,611 1,208,029 57,582
= 16,849
J| 575,436
< 129,940
Al 543,386
ARl AZ S 95,137 21,901 73,236
101 14l 95,137 21,901 73,236
04 JI2ZtHZ22HEE = 95,137 21,901 73,236
O X 3t 2 At 64,935
ool 250,000& = 18 * 262 * 93 58,500
C4AEE JI22E3 6,235
-HLYEERE 58,500,000& * 3.035% 1,776
“AJeLEE e 1,776,000& * 6.55% 117
=2z 58,500,000& * 4.5% 2,633
-1ESE 58,500,000& * 1.5% 878
-MHEE 58,500,000& * 1.42% 831
OZ 2 Ftyl 200,000& = 1Y = 13 200
OSEHAST L AMHIAAS (1) 30,202
C42E J12=2E3 30,202
-HAEEE 211,200,000& = 3.035% 6,410
-AlegEEe 6,410,000& * 6.55% 420
-2z 211,200,000 * 4.5% 9,504
-1ESE 211,200,000& * 1.5% 3,168
“MTHEE 211,200,000 * 1.42% 3,000
- E SO 200,000& = 11H « 23| 4,400
-SANEQE 300,000& * 11 3,300
Lol oI (SU)AY 26,029 33,777 ANT,748
J| 13,015
< 3,904
Al 9,110
307 glz2+ol & 26,029 33,777 AT, 748
J| 13,015
< 3,904
Al 9,110
01 92724l 26,029 33,777 AT,748
OXEE & AZ2 el 26,029,000 26,029
Jl| 13,015
< 3,904
Al 9,110
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MY AYEX
Sl B A LRI (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
MOp&Ed AZHE 6,026 4,656 1,370
J| 4,821
Al 1,205
201 £B-2d| 518 407 111
J| 414
Al 104
01 At 22/l 518 407 111
O=EE&H| 518,000& 518
J| 414
Al 104
308 XXM SO A 5,508 0 5,508
J| 4,407
Al 1,101
10 I 2SOl CHetZ & = 0 & A& I 5,508 0 5,508
o2zsd==d 5,508,000 5,508
J| 4,407
Al 1,101
= e 140,000 90,000 50,000
J| 70,000
< 21,000
Al 49,000
308 MtXIEHMSOIH 140,000 0 140,000
J| 70,000
< 21,000
Al 49,000
103N 2SoeBaH A 140,000 0 140,000
OZ &l 140,000, 000& 140,000
J| 70,000
< 21,000
Al 49,000
2SS0 ALY 21,061 16,104 4,957
= 16,849
< 1,263
Al 2,949
307 glz2tol & 21,061 16,104 4,957
= 16,849
< 1,263
Al 2,949
05 RIZt2E = 21,061 16,104 4,957
O Z &l 21,061,000 21,061
= 16,849
< 1,263
Al 2,949
2 o=zH XA 160,450 150,802 9,648
J| 80,225
< 24,068
Al 56,157
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MY AYEX
Sl B A LRI (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 160,450 150,802 9,648
J| 80,225
< 24,068
Al 56,157
01 22272l 160,450 150,802 9,648
OLsXo = AA 160,450,000 160,450
J| 80,225
< 24,068
Al 56,157
K ALS 242 AL 46,294 43,646 2,648
J| 23,147
Al 23,147
202 044l 500 500 0
J| 250
Al 250
01 SLHOIYI 500 500 0
OXAAS A2 XA K HI 500,000& 500
J| 250
Al 250
307 Q12+0| & 45,794 43,146 2,648
J| 22,897
Al 22,897
05 BIZHRI & 3 45,794 43,146 2,648
O X G ALS 242 = AbHI 45,794,000 45,794
J| 22,897
Al 22,897
NEAE SSEALSEAY 529,211 649,538 A 120,327
J| 264,606
< 52,920
Al 211,685
101 @124 dl 324,442 380,465 A 56,023
J| 162,221
=3 32,444
Al 129,777
03 RIAHAZZ2E = 212,792 200,225 12,567
OsgddsTAY 1A 209,492
O4z = 19,719,630& * 5% 98,599
J| 49,299
< 9,860
Al 39,440
O3z = 19,058,580& * 5% 95,293
J| 47,647
< 9,529
Al 38,117
On &t 130,000& = 109 = 128 15,600
J| 7,800
< 1,560
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SM: NEBAL ALEED
=
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BH: AYE
SR MEx H2XI|D| (&2 &)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
=] 200
Al 800
oORLUHCIANYER2HA 3,000,000 3,000
J| 1,500
o= 300
Al 1,200
03 A2 H H 27,100 55,153 N 28,053
OABMBAAANY Z2IB2Y
11,500,000& 11,500
J| 5,750
& 1,150
Al 4,600
OUNMEAHUWA T2 )HSH 5,000,000& 5,000
J| 2,500
== 500
Al 2,000
OYUANYg TE)HSA 3,800,000& 3,800
Jl 1,900
o= 380
Al 1,520
OMTHEBIBHSBIANY T2IBSH
,800,000& 4,800
J| 2,400
= 480
Al 1,920
OFRU ALY HAI2H 2,000,000 2,000
J| 1,000
< 200
Al 800
202 04d| 7,000 10,000 A 3,000
J| 3,500
= 700
Al 2,800
01 2L Yl 7,000 10,000 A 3,000
OSEHHLSIANES2E Kyl 7,000,000& 7,000
J| 3,500
< 700
Al 2,800
307 212t0| & 153,269 179,410 AN26,141
J| 76,635
o= 15,326
Al 61,308
01 s =l 153,269 179,410 N26,141
oOFRLHZIANYE B2 7Y 16,000
OgAHtLI 22 2& 2,600,000 = 33| 7,800
J| 3,900
o= 780
Al 3,120
OXSEHNESR 35 2,200,000& = 33| 6,600
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SM: NEBAL ALEED
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B AYEA
Selr dEs A2 31
SA - FB B (S) - KRAY - A2 Of & 24 il
Jl 3,300
< 660
Al 2,640
od&e 198 1,600,000 = 13l 1,600
J| 800
= 160
Al 640
OANLMBAHAY AANARE(ELAE DX
2gAE) 4,719,000& 4,719
J| 2,360
< 471
Al 1,888
OYLEB HEH L H4H 7Y
20,000,000& 20,000
J| 10,000
< 2,000
Al 8,000
OTAZADE A
65,000& = 130 = 12& 101,400
J| 50,700
< 10,140
Al 40,560
Odzligdaze oAt 4,150
OZANEAE & ABF 2,770,000& 2,770
J| 1,385
< 277
Al 1,108
Ot Z& Xt etEZSH &l 23,0008 » 60 1,380
Il 690
=) 138
Al 552
OXMMEINBINE L ZEHAM
140,000& * 50 7,000
Jl 3,500
=) 700
Al 2,800
SSMEUY JI=ZA 4,452 4,452
J| 2,226
< 2,226
307 21201 & 4,452 4,452
J| 2,226
< 2,226
01 2272l 4,452 4,452
OSE ALHUE ZAHHI 4,452,000 4,452
J| 2,226
< 2,226
YSUZST 2AH X 2,160 2,115
= 1,080
Al 1,080




SM: NEBAL ALEED
=
o

BH: AYE
SR MEx H2XI|D| (&2 &)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
307 2Iz2to| & 2,160 2,115 45
= 1,080
Al 1,080
01 e =t 2,160 2,115 45
OZsSWExSI & Al 2,160,000 2,160
& 1,080
Al 1,080
XNSGAZ S 2 HAMHA 234,791 174,688 60, 103
J| 117,396
= 23,479
Al 93,916
101 21 214| 133,700 75,290 58,410
J| 66,850
& 13,370
Al 53,480
04 JIZtHIZ22XNSE S 133,700 75,290 58,410
O2HAMESMEFA
1,600,000& * 4 * 12& 76,800
J| 38,400
== 7,680
Al 30,720
O2HAMAIEAXNE SHH012e]
1,600,000& * 2% * 128 38,400
J| 19,200
o= 3,840
Al 15,360
OIEESE= 1,600,000& * 6YH 9,600
J| 4,800
= 960
Al 3,840
O2dI2tH 22X S 0|
100,000 * 6Y = 128 7,200
J| 3,600
== 720
Al 2,880
oO2dAastAE W=RH| 240,000 = 4% 960
J| 480
o= 96
Al 384
O W0l 50,0008 * 4™ 200
J| 100
== 20
Al 80
O2dJ|I2 M2 2 X LI =24 90,000& * 69 540
J| 270
< 54
Al 216
201 2yt 2 Y| 59,691 59,748 A57
J| 29,846
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SM: NEBAL ALEED
=
o

X{ XH -
S =

g :EE)
M= el () - HRAY - A 0f o il 2
= 5,969
Al 23,876
01 At 22| bl 55,191 56, 148 A957
032d=2 ¥ U= 15,000,000& 15,000
Il 7,500
= 1,500
Al 6,000
0o3d2ed2g 9,191,000& 9,191
Il 4,596
T 919
Al 3,676
O3HANMAIE 22 16,000,000& 16,000
| 8,000
= 1,600
Al 6,400
OZ2HHEd3A JIES 50,000& * 300 15,000
J| 7,500
T 1,500
Al 6,000
03 A2 Z bl 4,500 3,600 900
O3 W= 2 At 50,000& = 303l 1,500
| 750
= 150
Al 600
o=2dZ=z ¥ 29| 3,000,000& 3,000
Il 1,500
T 300
Al 1,200
202 O B 2,400 2,400 0
Il 1,200
< 240
Al 960
01 =LH 4 B 2,400 2,400 0
O3HARF& (| 2,400,000& 2,400
| 1,200
< 240
Al 960
301 LetE A2 9,000 7,500 1,500
J| 4,500
& 900
Al 3,600
M IIEIEA S 9,000 7,500 1,500
SHIZ2ZE =+ 50,000& * 29 *» 90 9,000
J| 4,500
T 900
Al 3,600
307 QI2t0| M 30,000 22,000 8,000
J| 15,000
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=
o

M ALEZ
MEs AN 31D CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
= 3,000
Al 12,000
01 2L 2= H| 30,000 22,000 8,000
O2HEXH FA(0=s2HZ22|Y =)
30,000,000& 30,000
Dl 15,000
= 3,000
Al 12,000
Zagae MAH 2= 2,283,336 2,316,015 N 32,679
= 4,355
Dl 979,083
= 286,297
Al 1,013,601
StA S HSIAE 105,532 99,863 5,669
101 2121 4| 25,122 16,593 8,529
04 JIZtHI2E2XNSE S 25,122 16,593 8,529
oOgAALA=SII 222X 25,122
Ool 2| 54,0503 = 29 x 210 22,701
O4HEE D|la8g2 2,421
-HABEE = 22,701,000& * 3.035% 689
-3 YEBEEE 689,000& * 6.55% 46
-=013 22,701,000& * 4.5% 1,022
-182E 22,701,000& * 1.5% 341
“MHES 22,701,000& * 1.42% 323
201 LBr2 Y| 3,570 2,080 1,490
02 332494l 1,500 1,500 0
ogAALSEH RAHI 300,000& = 5CH 1,500
03 SHALS H I 2,070 580 1,490
oAsgdad NS 2,070
Og 5 70,000& = 13 70
Ounsui 5,000& * 400% 2,000
206 M = Hl 75,440 78,040 A 2,600
01 X2 Hl 75,440 78,040 AN 2,600
OYHAE (ERXESASHL 45) 74,640
(@)=FaEN 30,000& = 1L = 1,200H 36,000
O 30,000& = 1L * 6244 18,720
OLH A 30,000& = 1L * 6644 19,920
owddHEE 500
Oo&gs 90,000& * 3H 270
[OEY)] 10,0008 * 3™ 30
OotN 3t 60,0008 * 3H 180
O2 X 10,000 = 29 20
O=AIIMEE =NEZHE 30,000 * 10H 300
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0¥
Ol
[pal
B

el ®MA F=

- _ _ RE]

M- B (B H) - NSAY - B Ol At o %@ﬁ HRE2
22494 4,800 0 4,800
BtAbA PACSAH SHERN S X224

1,200,000 * 43| 4,800
2H01 & 166,934 143,944 22,990

oz« = H| 154,934 131,944 22,990

ongEsaed 119,374
OUYUEESAZ(BE2HQ 58)

76,624,000 76,624
OFLAHS AEZAHAXALY 40,000
QI EZ Al X} BHAIH| 8,000& * 2,000 16,000
-olZ 0|2 EF A&
12,000& * 2,000 24,000
OlEEEo2E ARE(FADIL 48)
2,750,000& 2,750
A E2H 21,240
OEZZAHMANABIXIS 21F)
90,000& * 918FA 8,190
OgelZAHSGTR 718)
90,0003 = 1328+A 11,880
O YA A 90,0008 = 138fA 1,170

OYAI A 2HA 320
Qoo s=2))2 40,000 = 8¢ 320

ozdgoo e 14,000
OtAEN 2,000& * 1,0007H 2,000
Oz gHULESE

4,000& * 2& * 1,500 12,000
R E= 12,000 12,000 0

OstalH 22| 12,000,000 12,000

b 22l X 1,726 6,544 N4 .818
=2 863
& 863

Ut A2 1,726 6,544 N4 ,818
2 863
& 863

01 Al B & A 46 2 1,726 6,544 N4 .818
Stz X+ MAHH X 1,726,000 ~ 19 1,726
2 863
== 863

= =0 =l 11,952 11,875 77
J| 5,976
o= 1,793
Al 4,183

2t01 A 11,952 11,655 297
J| 5,976
o= 1,793
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SH MYEAL ABEAD
BH: AYE
Ee: Zggae HAH 25 (e H)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 4,183
o1 s R=dl 11,952 11,655 297
OWlol XXt &l =H| 8,194,000& 8,194
Jl 4,097
o= 1,229
Al 2,868
OdoiZEd 28 & XIS XF 1,758,000 1,758
J| 879
= 264
Al 615
OO0 =& Al 20H 2,000,000& 2,000
J| 1,000
= 300
Al 700
=20 2 E S A A 1,876,950 1,921,184 N44 234
J| 938,475
= 278,211
Al 660,264
101 e1214| 22,202 21,556 646
J| 11,101
Al 11,101
04 JIZtHI22XNEE S 22,202 21,556 646
oo 22,202,000 22,202
J| 11,101
Al 11,101
307 2iz2to| A 1,854,748 1,899,628 N 44,880
J| 927,374
= 278,211
Al 649, 163
01 s R=Hl 1,854,748 1,899,628 N 44880
OO0l eESA Al 1,417,582,000& 1,417,582
J| 708,791
o= 212,637
Al 496,154
OdoloeESA A 431,550,000 431,550
J| 215,775
& 64,732
Al 151,043
OBE 2t FAHD|2ZE M ALY 5,616,000 5,616
J| 2,808
o 842
Al 1,966
20 ALY 69,264 68,264 1,000
J| 34,632
= 5,430
Al 29,202
101 21 214| 31,622 31,622 0
J| 15,811
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SA: AGEAA HUSADY
HE: AYSH
S ZgEgae A 2= (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 15,811
04 D12t Z2XEES 31,622 31,622 0
oo=Y 31,622,000 31,622
J| 15,811
Al 15,811
201 Let24d] 1,940 2,500 A 560
J| 970
= 291
Al 679
01 At 22l 1,940 2,500 A 560
o2 & AHMuisH 1,540,000& 1,540
J| 770
= 231
Al 539
OHle=SZ a2l e wsHl 400,000 400
J| 200
< 60
Al 140
202 044l 1,440 1,440 0
J| 720
Al 720
01 2U 01 b 1,440 1,440 0
oszS Rl LYXOYI 1,440,000 1,440
J| 720
Al 720
301 et d = 1,400 2,500 A 1,100
J| 700
= 210
Al 490
01 MEI2ZE 406z 1,400 2,500 A1,100
OLATHI MAHI 1,400,000& 1,400
| 700
< 210
Al 490
307 21201 A 32,662 30,202 2,460
J| 16,331
< 4,899
Al 11,432
01 92724l 32,662 30,102 2,560
oY, 9@ =X Zal 6,000,000& 6,000
J| 3,000
= 900
Al 2,100
OLATHI LA 2,500,000& 2,500
J| 1,250
< 375
Al 875
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201 £B-2dH| 1,400 0 1,400
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01 At 22l 1,000 0 1,000
os=28 M= 1,000& = 1,000% 1,000
J| 500
< 150
Al 350
03 & Ar2 Z I 400 0 400
OMIt &It K= 400,000& 400
Jl 200
< 60
Al 140
307 gl2tol & 6,816 7,916 A 1,100
J| 3,408
< 1,023
Al 2,385
01 222l 6,816 7,916 A1,100
O%Z & A2FH 6,816,000& 6,816
J| 3,408
< 1,023
Al 2,385
JNHAEHHZE 8,286 8,286 0
< 415
Al 7,871
202 044l 286 286 0
< 15
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01 = LH o4 1l 286 286 0
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01 222l 8,000 8,000 0
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Al 24,500
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Al 69,612
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o=2gHl 165,850,000& * 1JH 2 165,850
J| 82,925
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Al 49,755
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J| 25,000
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Al 24,500
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Al 24,500
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Al 7,000
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J| 2,211
< 1,105
Al 1,106
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J| 2,211
< 1,105
Al 1,106
10 B2 SO B HH A 4,422 0 4,422
OFAELNE A4l - Z4 olgH X
4,422,000 4,422
J| 2,211
< 1,105
Al 1,106
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Al 69,583
308 XX EHHSOIA 231,943 0 231,943
Xl 162,360
Al 69,583
10 B 2SUHHeBAHHH A 231,943 0 231,943
O&2 - Mot AZ2te| A X 231,943,000 231,943
Xl 162,360
Al 69,583
ROt AL Z AL 5,485 7,492 A 2,007
J| 4,388
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Jl 2,184
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J| 1,870
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J| 183
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Al 92
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OREANH (EE)HI 366,000 366
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Al 92

307 2iz2tol & 3,374 3,375 A1
J| 1,687
= 844
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307 gl2tol & 94,479 61,969 32,510
J| 47,240
< 23,619
Al 23,620
01 2=zL =4l 94,479 61,969 32,510
Oo0l=0ot & « &0t o SHIXE
94,479,000 94,479
J| 47,240
< 23,619
Al 23,620
S LHALOI & 2 AL 2l 38,018 46,228 28,210
J| 19,009
< 9,505
Al 9,504
307 gl2tol & 38,018 46,228 28,210
J| 19,009
< 9,505
Al 9,504
01 d=2L =4l 38,018 46,228 28,210
O EUHAIOI A Z AL & &0t2teltl
38,018,000 38,018
J| 19,009
S 9,505
Al 9,504
HEEAEHA+E 1,540 1,390 150
J| 770
< 385
Al 385
308 MtXIEHSOIH 1,540 0 1,540
| 770
< 385
Al 385
10 B2 s0ltiseta & AFEHI 1,540 0 1,540
OEERNEHT 1,540,000& 1,540
| 770
< 385
Al 385
AR 264,593 206,047 58,546
J| 132,297
< 66,148
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307 glz2+ol & 264,593 206,047 58,546
J| 132,297
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Jl 107,800
53,900
Al 53,900
OelZ+=F A=t 48,993,000& 48,993
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Il 18,750
9,375
9,375

= M

307 21201 & 37,500 0 37,500
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93,724,0002! 93,724
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0
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A
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SIAAZZ2NE S 391,955 0 391,955
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S B G(SA) - NRANY - BES il 2
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- AU XS OFAES
80,000& = 1¥ = 128 960
—ZU2RF(HE2R ., 522R)
9,100& = 11 = 15A12t = 128 18,018
01 X}
333,260,730& / 3652 * 118 » 20 200,870
-AHHE NS (LEEA)
382,000& = 3Y « 43 4,584
OFEFtHl
217,576,980 / 128 = 60% * 23 21,758
O= &l 130,000& * 118 » 123 17,160
On &t 130,000& = 18 = 128 1,560
oz2s=+¢ 217,576,980 + 10% /12 =12& 21,758
OJHAIXI & bl 175,000& » 11¥ » 123 23,100
O4UEE Jl22E=3(11Y) 51,331
OHLESEE 481,790,000& * 3.035% 14,623
OFIIRAEE= 14,623,0002 * 6.55% 958
O=8dgd= 481,790,000& * 4.5% 21,681
onzs=sg 481,790,000& = 1.5% 7,227
OtHEH 481,790,000& * 1.42% 6,842
OIl=Hl(ardelAt) 90,000& * 1 90
EEL 58,964 58,964
JlE&l 58,964 58,964
201 £B-2dH| 24,204 24,204
01 At 22l 23,092 23,092
OJl=gdRdas3H (JI&3Hl)
11,500, 000& 11,500
O=&HI(J1E=&Hl) 11,592,000& 11,592
02 2324l 1,112 1,112
oORER= 1,112
OBt 2703 * 2008 =12& 648
OsJI 1,930& * 208 » 12& 464
202 4Hl 29,640 29,640
01 = LH A HI 19,440 19,440
OJIEZ 19,440,000 19,440
02 M0 10,200 10,200
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J| 2,494,993
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SAHAZ AL DR = 469,120 465,653 3,467
o= 2,551
Al 466,569
S22 P A2 S 132,449 181,334 N 48,885
101 e1214| 82,229 15,818 66,411
04 JIZtHI22XNSEE S 82,229 15,818 66,411
© 2] O AF 65,025
Oeld| 250,000€ « 1 = 262 = 9& 58,500
Q4 Ijaedg=2 6,235
-AHAEE 58,500,000& * 3.035% 1,776
- QUL E 1,776,000 * 6.55% 117
-=20132 58,500,000 * 4.5% 2,633
A2 E 58,500,000& * 1.42% 831
-28s 58,500,000 * 1.5% 878
OY & s0ty| 200,000& = 1€ * 13| 200
(@1l 90,0008 = 1&H 90
Oz XN 2tz s 17,204
oerAgl 58,400& * 1Y = 262 102 15,184
Q4 e Jjaed=2 1,620
-H2AEE 15,184,000 * 3.035% 461
-AJRLUYEE 461,000 * 6.55% 31
=012 15,184,000& * 4.5% 684
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1,200& = 10,000¥ 12,000
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ostgtdlgd 29 6,000
O%= 3,500,000 3,500
OA2E(gHeea) 2,500,000& 2,500
o=2clXzss 29 2,160
OAXE(AEXZAH) 1,260,000& 1,260
OARE(SH MIIXSBIIME) 900,000 900
g22H4A29 125,501 0 125,501
101 2121 4| 19,466 0 19,466
04 JIZtHI2E2XNSE S 19,466 0 19,466
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OZ & Fotyl 200,000& » 1F = 23 400
O=XNEQAUE 300,000& * 1& 300
OF &3 48,2803 * 528/365 * 30 2,096
201 LEt2 A | 106,035
01 At 2teltl 23,966
OEAMAE S 2T M
10,000& » 508 * 23 1,000
OUUIANEE ZEHEY 7,040
ooza 4,620
- gt 220,000& = 38 « 52/ 3,300
== 330,000& = 48 « 13/ 1,320
(OFSE=3-=] 220,000& * 185 = 72l 1,540
Ogjeretel 216t 220,000& = 48 ~ 13/ 880
QUIAANRE SAESX 1,008
ogaa 21,0008 * 26=tA 546
Odlzg4d 21,000& * 16=tA 336
Ogfefatel 216t 21,0003 * 62fA 126
OZENEE 1,770 = 3004 = 128 638
O&=J| &ecltl 2,520
O8zda 35,000 = 2CH = 12& 840
OEAX A 35,0003 * 2002 + 128 840
@)-FaFSE=E 35,000 * 2 A + 128 840
OzZEHII=Z Mel==2 2,760
OEAdx 150,000& * 123 1,800
(OF-FaPNE~ 20,000 = 2 = 128 480
@)-FaFSE=F 20,0003 * 202 = 128 480
ORUIHEL =2 4,800
(O)--FaPNES 100,000& = 24 « 123 2,400
o=gAdE A 100,000& * 204 = 128 2,400
OIILEUHE2(EAR L)
100,000& * 2)H A = 128 2,400
OsHMels==2(8%)
150,000& * 1JHA « 128 1,800
3234 82,069
OFSPIRTE=, 1,700,000& = 128 20,400
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Bu: AYET
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(OFEF=PX; 4,908,000& * 604 29,448
OsEXxt 6,551,000 = 1CH 6,551
[OES=DN; 3,080,000& * 1CH 3,080
Ost= Xt 4,299,000& * 2CH 8,598
OAHER X HI 6,392
O153 OIGH(XIA) 2,968 * 755m = 20 A 4,482
o204 olsH(&ZEA)
3,549& * 269M * 2JH A 1,910
O A& &H|l X4 100,000& * 168 1,600
09 Z &l KX 1,000,000& = 6CH 6,000
SAXNL2H 163,756 180,630 N 16,874
201 Bt H | 24,456 37,000 AN 12,544
01 At 22l Yl 6,036 6,980 N 944
O%EX L A=2E(HX) 100& = 5,000%8 500
OANRES 200,000& * 2 = 23] 800
OZely E14 220,0008 * 28 * 2 * 23] 1,760
OFHALES 200,000& * 2 = 23] 800
OLTLEAYUED 2TIIEX
88,000& * 24 2 176
osael=E(ax) 2,000,000& = 10 A 2,000
02 =294l 18,420 30,020 A 11,600
o332= % HA 18,420
(OrsPIETE=: 730,000& * 20HA = 12&€ 17,520
O#+E23(=00)
35,000& = 1A+ 12&8 420
ORrddss 20,000 * 204 = 128 480
307 QI2t0| ™ 134,000 129,830 4,170
01 elz2d2=H| 134,000 129,830 4,170
ool 6,000
Oogetxz 3,000
-AZE(=38Z2) 2,500,000 2,500
-A2E 500,000& 500
Osta z 3,000
-4 = 2,500,000& 2,500
-A2E 500,000& 500
O (A2 XH) 128,000
ogetxz 123,000
—QFE (2 LH X ) 120,000,000 120,000
-A~83 3,000,000& 3,000
Osttdl &g 5,000
-4 = 4,000,000& 4,000
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SA: NRASAL
=X
[T

M AYEW
Selr BAABAIL J|p RS (el @2)
(o
S - BB () - HEAY - BES Ol At o %@ﬁ HRE2
-A2E 1,000,000 1,000
401 A& H|IZ 2 0HY| 5,300 5,300
01 Al& B 5,300 5,300
SAELEDANE E) 5,300,000& 5,300
BAXNEZAR2YHE 38,910 50,966 N 12,056
201 et d| 19,710 27,586 NT,876
01 AR 22l ] 4,510 5,296 NT786
ONRES 200,000& * 2004 * 23] 800
OZZIHEH 220,000& * 2& * 20 A * 13 880
OFEAEE S 200,000 * 2044 * 23] 800
O==2HIZA HIIE3 E2H|
100,000 * 20 200
ORATRASYEIS SlBELY
30,000& * 14 x 2I0 A x 23] 1,680
Os&n(otA) 150,000 = 1J4 150
02 232 H4| 13,100 19,490 A6,390
02322 % HA 9,708
[OrSPIETE=] 376,0008 * 2)HA = 12€ 9,024
OM+EQ2(5t4)
35,000 « 104 « 12€ 420
Os4ddss 11,0008 = 2004 * 128 264
OFSIEHA 100,000 * 20 * 13 200
Ot AEH 250,000 * 200 A 500
otterdAZH| (20/) 2,692
OMBAE S 9413 * 184 = 150L * 1A 2,541
OB &Y 1R * 40 * 40 * 1A 151
03 A2 H H| 2,100 2,800 A 700
odLsRETZZz ) 24 2,100
OLAE 50,000 * 204 + 103l 1,000
O84% 2 W2Hl S
55,000 * 204 + 103l 1,100
301 Bt A= 1,200 3,080 A 1,880
11 JIEtE A= 1,200 1,400 A 200
OBAHANESASIAES & E=s4¢
50,000& * 204 « 12& 1,200
307 2Iz2t0| A 18,000 18,000 0
01 s =l 18,000 18,000 0
(@I 7,500,000& = 2JH A 15,000
oOArRE 1,500,000& * 242 3,000
BAXEs ISGBLRY BN 400 400 0
o= 120
Al 280
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A2 S AIE Jet =

B (BH) - NRAY - By Ol &+ o4 SSa HlmE2

201 Le-2d| 400 400 0
< 120
Al 280

01 At 22l 400 400 0
o4 nSH 200,0008 * 2% 400
< 120
Al 280

A=z A 2x08 XA 8,104 7,323 781
< 2,431
Al 5,673

101 @124 dl 8,104 7,323 781
< 2,431
Al 5,673

YBIEEEP TP 8,104 7,323 781
ORANR L BEH 8,104
ool 2| 8,104,000 8,104
< 2,431
Al 5,673

Meb = A2 1,418,992 1,317,569 101,423
= 18,592
| 652,980
< 148,481
Al 598,939

AMIAZSE 92,482 21,901 70,581

101 @144 dl 92,482 21,901 70,581

04 JIZHHZ2XREES 92,482 21,901 70,581
O Xl 2t 2J At 65,025
(@)iral:] 250,000& = 198 = 26 » 93 58,500
O4UEE JIa2E3 6,235
-HAEHE 58,500,000& * 3.035% 1,776
ISR H 1,776,000& * 6.55% 117
-2z 58,500,000& * 4.5% 2,633
-N22d 58,500,000& * 1.5% 878
M EE 58,500,000& * 1.42% 831
OZFEJItHI 200,000& = 1H 13 200
o1l =l 90,000& = 1H 90
OSEHLSTAIY L SHAHUIAA(10Y) 27,457
O4UEE JIa2g3 20,457
-HAEH 192,000,000& * 3.035% 5,828
YR H 5,828,000& * 6.55% 382
e = 192,000,000& * 4.5% 8,640
-1ESE 192,000,000& * 1.5% 2,880
-AMTHEE 192,000,000& * 1.42% 2,727
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SN HRZAA
HE: AYSH
S ME & A2 (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFEFOtHI 200,000& = 10¥ « 23| 4,000
O=XNEQUE 300,000& = 109H 3,000
Lol o xi( [)AHE 26,029 33,777 ANT,748
J| 13,015
< 3,904
Al 9,110
307 gl2tol & 26,029 33,777 ANT,748
J| 13,015
< 3,904
Al 9,110
01 222l 26,029 33,777 ANT,748
O9XEE & AZ=2e] 26,029,000 26,029
J| 13,015
< 3,904
Al 9,110
MOpEED AZH A 7,964 5,715 2,249
J| 6,371
Al 1,593
201 L4l 684 499 185
J| 547
Al 137
01 At 22l 684 499 185
CdiHME) AZHE 88 684,000& 684
J| 547
Al 137
308 MtXIEHSOIH 7,280 0 7,280
J| 5,824
Al 1,456
103 2SoeBaE A 7,280 0 7,280
OMfH &I A2HE 7,280,000 7,280
J| 5,824
Al 1,456
= R 160,000 120,000 40,000
J| 80,000
< 24,000
Al 56,000
308 XX EHHSOIA 160,000 0 160,000
J| 80,000
< 24,000
Al 56,000
10 B2 SHe B A XA A 160,000 0 160,000
og ZJ|I&&A 40,000,000& = 43| 160,000
J| 80,000
< 24,000
Al 56,000
gL H2HA 23,240 19,765 3,475
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SA HRABAA
Bu: AYET
Helr Mg &5 A2 X310 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 18,592
< 1,394
Al 3,254
308 XXM SOl A 23,240 0 23,240
= 18,592
< 1,394
Al 3,254
10 B2 SO BAHH A 23,240 0 23,240
Oz ALY 23,240,000 23,240
= 18,592
< 1,394
Al 3,254
NI = | AR 205,450 150,803 54,647
J| 102,725
< 30,818
Al 71,907
307 21201 A 205,450 0 205,450
J| 102,725
< 30,818
Al 71,907
01 92724l 205,450 0 205,450
OYgstXkt 2= Hl XA 205,450,000& 205,450
J| 102,725
< 30,818
Al 71,907
NS As] A2 Z AL 46,346 43,698 2,648
J| 23,173
Al 23,173
202 Odl 500 500 0
J| 250
Al 250
01 = LH 4 bl 500 500 0
OXSALE] A2 A 044
20,0003 = 1H » 25¢ 500
J| 250
Al 250
307 glz2tol & 45,846 43,198 2,648
| 22,923
Al 22,923
05 RIZHRI & 3 45,846 43,198 2,648
OXIFALS H2ZZA 45,846,000& = 13l 45,846
J| 22,923
Al 22,923
ANAAS SEAZSEAY 597,405 710,727 A 113,322
J| 298,702
< 59,741
Al 238,962
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FN NEAEA R
MY AYEX
S ME & A2 (&)
SN HH-S(BN) - MBAY - B il HlnE2
101 14 Hl 371,046 447,514 AT6,468
| 185,523
< 37,105
Al 148,418
03 RIAHAZZAE S 280,926 263,314 17,612
O=sg3s=2% 280,926
Ol At 19,719,630& g 256,356
| 128,178
= 25,636
Al 102,542
mE=4.] 130,000& = 13H 124 20,280
| 10,140
< 2,028
Al 8,112
[EfW=H 240,000 g 3,120
| 1,560
= 312
Al 1,248
Ol =4l 90,000& A 1,170
| 585
< 117
Al 468
04 2| |22 Xt 90,120 184,200 294,080
osgAdds o 90,120
ol A H| 21,000,000& * 49H 84,000
| 42,000
< 8,400
Al 33,600
ST I 100,000& = 4H = 123 4,800
| 2,400
< 480
Al 1,920
(& D= 240,000& » 49 960
| 480
< 96
Al 384
Ol =t 90,000& = 49H 360
| 180
< 36
Al 144
201 LB-2d| 79,159 100, 185 221,026
J| 39,579
< 7,916
Al 31,664
01 At 22l 35,359 61,785 N26,426
OsE=2 ¥ 35,359
OHL M 21,859,000 21,859
| 10,929
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SN HRZAA
HE: AYSH
S ME & A2 el E )
SN EE - (SN) - HRAY - BHAS il Hl D = 2t
== 2,186
Al 8,744
Ot E2ZEEML 2l 3,000, 3,000
| 1,500
< 300
Al 1,200
Og LA 3,000, 3,000
| 1,500
= 300
Al 1,200
ORZ ALY 3,500, 3,500
| 1,750
< 350
Al 1,400
OBXEAAS 2,000, 2,000
| 1,000
< 200
Al 800
OogzAHdzelAd 2,000, 2,000
| 1,000
= 200
Al 800
03 #AL2Z Hl 43,800 38,400 5,400
OnZMaAd TZ2 ) 2 33,400, 33,400
| 16,700
= 3,340
Al 13,360
OMLE2aEE Tz 2 6,400, 6,400
| 3,200
= 640
Al 2,560
ogas HZwa T2 2% 4,000, 4,000
| 2,000
= 400
Al 1,600
202 O4HI 7,000 8,200 A 1,200
| 3,500
< 700
Al 2,800
01 = LHAYI 7,000 8,200 A 1,200
OSEAHLSIAY 22 0l 7,000,000& 7,000
| 3,500
= 700
Al 2,800
307 glz2tol & 140,200 154,828 A 14,628
| 70,100
= 14,020
Al 56,080
01 2L =4l 140,200 154,828 AN 14,628
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SA HRABAA
Bu: AYET
Chel: ME = A420X3]0] (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
o7& zelArY 11,500
O= A HtL 2,500& * 2,800H 7,000
| 3,500
< 700
Al 2,800
OABE AQE (YA =)
1,500,000& * 33l 4,500
| 2,250
[ 450
Al 1,800
OFA AN 110,100
OEEAE 65,0003 = 140H » 123 109,200
bl 54,600
< 10,920
Al 43,680
oglgray 45,0003 * 20= 900
| 450
< 90
Al 360
OMNHEZES (YBANY BAAHES A
6,000& » 700H 4,200
| 2,100
< 420
Al 1,680
OPUEE FLH £ E22M 6,400 * 625F 4,000
| 2,000
[ 400
Al 1,600
OXIOHED| & &Y 80,000& » 1309 10,400
| 5,200
< 1,040
Al 4,160
SEMEUY JI=ZA 4,452 4,452 0
| 2,226
< 2,226
307 21201 A 4,452 4,452 0
| 2,226
= 2,226
01 2L ZHl 4,452 4,452 0
OZHAHE HEARSS U Al
3,180 = 2& * 700 4,452
| 2,226
< 2,226
ZsWESImM ZAHl X 2,088 2,115 N2T
< 1,044
Al 1,044
307 2Iz2t0l A 2,088 2,115 N2T
< 1,044
Al 1,044
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FN NEAEA R
M ALEZ
Sl ME & AL CERED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 2=2L A=l 2,088 2,115 AN2T
OZdSHEZSAAYI 2,088,000& 2,088
= 1,044
Al 1,044
ANEAS S AN A 253,536 188, 266 65,270
| 126,768
< 25,354
Al 101,414
101 1A dl 135,180 101,051 34,129
| 67,590
< 13,518
Al 54,072
M4 JI2ZHZEXNSES 135,180 101,051 34,129
O=H&EA & SHAMLHA 135,180
Ol 21,000,000& * 69H 126,000
| 63,000
< 12,600
Al 50,400
O=& 0| 100,000& * 6H = 123 7,200
| 3,600
< 720
Al 2,880
o1l =l 90,000& = 64H 540
| 270
= 54
Al 216
OdzZod st 240,000 = 69H 1,440
| 720
= 144
Al 576
201 £8-2dH| 74,456 55,615 18,841
J| 37,228
< 7,446
Al 29,782
01 At 22l 73,206 55,615 17,591
Os2e & usEls
2,000& = 108 = 1,275 25,500
| 12,750
< 2,550
Al 10,200
ozd3elY 29 13,706,000& 13,706
| 6,853
< 1,371
Al 5,482
O3dEITLH(E2ENE &HX)
10,000,000& 10,000
| 5,000
< 1,000
Al 4,000




SA HRABAA
Bu: AYET
CHe: ME = AH2AXI|D] (e H)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
CEEEEEIEEER IR
100 *~ 4= * 10,000%&t 4,000
J| 2,000
< 400
Al 1,600
O2HH&EZ2A €SB 50,000& * 40004 20,000
J| 10,000
= 2,000
Al 8,000
03 HAI2 G H| 1,250 0 1,250
o2 s T2 2Y9H|l 50,0008 = 253 1,250
J| 625
& 125
Al 500
202 04| 2,400 1,200 1,200
J| 1,200
& 240
Al 960
01 2Ll 2,400 1,200 1,200
O3 RF=& (| 100,000 = 2% = 128 2,400
J| 1,200
o 240
Al 960
301 et A= 9,000 10,000 A 1,000
J| 4,500
= 900
Al 3,600
11 J|EtE A S 9,000 10,000 A 1,000
ZHIETR 2H LS 50,0008 * 2% » 90 9,000
Il 4,500
& 900
Al 3,600
307 2iz2to| A 30,000 20,400 9,600
J| 15,000
= 3,000
Al 12,000
01 e =t 30,000 20,400 9,600
o222 XM 20,000& = 1,5009H 30,000
J| 15,000
o=} 3,000
Al 12,000
405 KHoHFE S HI 2,500 0 2,500
J| 1,250
& 250
Al 1,000
01 XA E B F S| 2,500 0 2,500
OLIREI=AI|(ARZTATY)
2,500,000 = 1CH 2,500
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SA HRABAA
Bu: AYET
SRl ME = AT I SRR
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Jl 1,250
T 250
Al 1,000
Z2gg2el JAH 25 3,049,140 3,219,100 169,960
= 45,673
Dl 1,315,439
T 392,382
Al 1,295,646
StA S HSHALE 97,942 95,243 2,699
101 @121 25,122 16,593 8,529
04 J|I2ZtHZ2E2XNEE 25,122 16,593 8,529
oOoYHEASE JI2ZtHZ22 X 25,122
oot 54,0503 = 29 x 210 22,701
O4HEE |2 8g2 2,421
-HEAEE 22,701,000& * 3.035% 689
-3 RYBEE 689,000& * 6.55% 46
-=20H= 22,701,000 = 4.5% 1,022
-18:2E 22,701,000& * 1.5% 341
-AMHEE 22,701,000 * 1.42% 323
201 LEt2 Y| 1,500 2,080 A 580
02 332494l 1,500 1,500 0
oOg9A=sdH RAH 300,000& * 5CH 1,500
206 M = Hl 71,320 73,420 A2,100
01 & bl 71,320 73,420 A2,100
OYHAE (2SS 458) 62,520
(@)=Rapn 30,000& = 12l& * 9964 29,880
OXsgct 30,000& = 12l = 5284 15,840
OoOgued 30,000 = 12l& = 5604 16,800
og9 g HdES 500
o&gs=s 90,000& = 39H 270
O&L X 10,000& = 39 30
Ootd 3t 60,000& * 3H 180
O2 X 10,000& = 294 20
OXEIHZEY HLES
4,000& = 25 + 11,0004 8,000
O=AN) MES =HME & 30,0008 * 1094 300
23yl 268,606 248,138 20,468
101 @121 9,804 23,275 N 13,471
04 JI2ZtH 22 XNHEE =+ 9,804 23,275 N 13,471
OCE2AUX HLES JI2H22 X 6,504
O S A 58,4003 * 4% x 15 3,504
OOl &2 At 300,000 = 1€ = 10 3,000
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A ARAEAL
H: HASN
gy el MAH 2H o &)

= - 4 14
M- o9 (B H) - MEAY - B2 %Eﬁ HR=2
OFAAHS A E2AU X AFSEHI 40,000
-0l E S0l X} BHAl 8,000& * 2,000& 16,000
o203 = AI#El 12,0008 = 2,000 24,000
ONYEEEZA 928 ABE(ZAD 2 48)
2,350,000& 2,350
OYAIH A 2H 320
Qoo 8 JI2 40,000 = 8Y 320
OZAA 29 74,350
OB A AMNAHBXI2 30E)
90,0003 = 1602 A 14,400
OMEeEIAZ.0 2 15 90,000 = 3288+ A 29,520
OY el & At 90,0003 = 200 A 18,000
O & ZctolCIoF A AL 13,0008 = 700A 9,100
OAE 2+ HAH(1gG 2 15)
555,0008 » BEFA 3,330
05 QIZtR E 2 20,800 20,800 0
O st & 2te| 20,800,000 * 13| 20,800
A& 22| X 12,082 13,088 A 1,006
= 6,041
& 6,041
301 et A= 12,082 13,088 A 1,006
= 6,041
& 6,041
01 Al B & X 262 12,082 13,088 A 1,006
Osgtdl = X1 AMAHHl X 1,726,0008 = 7Y 12,082
= 6,041
& 6,041
Hol=x & AYoe 29,356 38,757 N9,401
J| 14,678
o 4,403
Al 10,275
307 212t0| & 29,356 38,537 N9, 181
J| 14,678
o=t 4,403
Al 10,275
01 s = 29,356 38,537 N9, 181
Oulol= &X &=l 12,740,000 12,740
J| 6,370
= 1,911
Al 4,459
odoizeEy 28 € s X3
11,200,000 11,200
J| 5,600
= 1,680
Al 3,920
OO0l = XCHAI2 204 5,416,000& 5,416

_55_




SM: A

Ha: 1Y

gy el MAH 2H (SH9: &)
= _ — d =
CHB - BI(BH) - NN - B 0l &t o il HImEET
Jl 2,708
< 812
Al 1,896
=2 E S ALY 2,519,020 2,701,210 A 182,190
J| 1,259,510
& 374,522
Al 884,988
101 @14 dl 22,202 21,556 646
J| 11,101
Al 11,101
04 JIZHHZ2XREES 22,202 21,556 646
oHeEESSHH = 22,202
ool 2l 22,202,000& » 14H 22,202
J| 11,101
Al 11,101
307 gl2tol & 2,496,818 2,679,654 A 182,836
J| 1,248,409
< 374,522
Al 873,887
01 222l 2,496,818 2,679,654 A 182,836
OO0 ol HeEds 2,046,508, 000& 2,046,508
J| 1,023,254
< 306,977
Al 716,277
odel HeEds 441,886,000 441,886
J| 220,943
< 66,281
Al 154,662
oBE2HE =4I| 8,424,000 8,424
J| 4,212
< 1,264
Al 2,948
SH 0l &2 ALY 82,502 79,122 3,380
J| 41,251
< 7,416
Al 33,835
101 124 dl 31,622 31,622 0
J| 15,811
Al 15,811
04 JIZtHZ22HEE =+ 31,622 31,622 0
OZHTE2tS Al 31,622
ool 2,000,000& * 1H * 123 24,000
J| 12,000
Al 12,000
O&l &= 2,000,000& = 14H 2,000
J| 1,000
Al 1,000

_56_




SM: A

Ha: 1Y

2el WA 7=

- - _ RE!
CEHE .S (3H) - MBAY - B2 e 2
O 0 bl 100,000& » 1¥9 = 128 1,200
J| 600
Al 600
O4Ui2E ¥ JIEtMdH= 4,422,000 4,422
Dl 2,211
Al 2,211
282 A 3,400 2,500 900
J| 1,700
< 510
Al 1,190
AP 22| bl 3,400 2,500 900
oOZd#Hazd 3,400
OE22(2E# 9 15)
1,000& * 2& = 1,50004 3,000
Jl 1,500
= 450
Al 1,050
O =t 400,000& = 14 400
Dl 200
& 60
Al 140
o4 bl 1,440 1,440 0
Dl 720
Al 720
=L bl 1,440 1,440 0
oAZE Bl Yol
120,000& ~ 198 = 12& 1,440
Dl 720
Al 720
g A= 2,300 3,000 A 700
J| 1,150
< 345
Al 805
A2 & A 2+5 2 2,300 3,000 A 700
OYAHTHA LAAH L MAG 2,300,000 2,300
Dl 1,150
= 345
Al 805
oI2t0| & 43,140 40,560 2,580
Dl 21,570
& 6,471
Al 15,099
EEEEEN] 43,140 40,460 2,680
Ogod ¥ &&H| 8,500,000 8,500
Dl 4,250
& 1,275
Al 2,975
OYAFHA LAY 4,000,000& 4,000
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SA HRABAA
Bu: AYET
Sl 2HUANB 25 U AV T4 (sl &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Jl 900
= 270
Al 630
01 At 22l 1,000 1,240 A 240
os&E= 1,000& * 1,000 1,000
J| 500
< 150
Al 350
03 A2 Z HI 800 0 800
OMItZ & AHE2Y 28 400,000& * 23] 800
J| 400
< 120
Al 280
307 glz2tol & 6,414 6,806 A 392
J| 3,207
< 962
Al 2,245
01 22724l 6,414 6,806 A 392
oA 4,425,000 4,425
J| 2,212
= 664
Al 1,549
(OFEAS=y - 1,989,000 1,989
J| 995
< 298
Al 696
XA HEH2E(01Y) 8,286 8,286 0
< 415
Al 7,871
202 oddl 286 286 0
< 15
Al 271
01 =i 4 1l 286 286 0
OXMS R FLOH 286,000 286
< 15
Al 271
307 21201 A 8,000 8,000 0
< 400
Al 7,600
01 =L =4l 8,000 8,000 0
OXIOHEXE JIMH 2 485 8,000,000& 8,000
= 400
Al 7,600
XIOHXIZ 28l XI& (A Hl) 59,300 99,333 A 40,033
Jl| 29,650
< 8,895
Al 20,755
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SA HRABAA
Bu: AYET
Sl CIRFGNS 7S Y AYHE T4 (ol @)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
308 XHXIEHSO|A 59,300 0 59,300
J| 29,650
& 8,895
Al 20,755
10 2| 2 SHCHSHE A X A H 59,300 0 59,300
OXIO XI22eldl (2Hdl) 59,300,000 59,300
J| 29,650
= 8,895
Al 20,755
XOHEX SSMHEXA 121,466 96, 466 25,000
= 24,293
Al 97,173
307 giztol A 121,466 96,466 25,000
& 24,293
Al 97,173
o1 s R=Hl 121,466 96, 466 25,000
OXlNeX =sMEXS 121,466,000 121,466
& 24,293
Al 97,173
SIAYUXI L EEX o2 HIX& 142,673 227,934 N 85,261
J| 71,336
o= 21,401
Al 49,936
308 XX SHHSOIH 142,673 0 142,673
J| 71,336
o 21,401
Al 49,936
10 B2 SH st A A S A 142,673 0 142,673
O3 AHUXHEEE 2O =H| 142,673,000 142,673
J| 71,336
& 21,401
Al 49,936
HUHLSRHEH2S 165,850 160,000 5,850
J| 82,925
& 33,170
Al 49,755
307 2iz2tol A 165,850 160,000 5,850
J| 82,925
&< 33,170
Al 49,755
05 QIZ2tR E 2 165,850 160,000 5,850
OFNAHLSEHEH 2HH|
165,850,000& * 10 A 165,850
J| 82,925
& 33,170
Al 49,755
OlSEAYE HABE2AHAY 50,000 50,000 0




SA HRABAA
Bu: AYET
Sl 2HUANB 25 U AV T4 CEEEED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Pl 25,000
= 25,000
307 2iz2to| A 50,000 50,000 0
J| 25,000
= 25,000
05 QIZ2tRE 2 50,000 50,000 0
ONSHAEUAAMBAHAY 2HH|
50,000,000 * 1JH = 50,000
J| 25,000
= 25,000
Rarog o BAAHAUSTAIY(EX) 60,000 60,000 0
J| 30,000
& 9,000
Al 21,000
307 2iz2to| A 60,000 60,000 0
J| 30,000
= 9,000
Al 21,000
05 QIZ2tRE 2 60,000 60,000 0
ORI &L HAMHAUSEAIE 29|
60,000,000 * 1= 60,000
J| 30,000
& 9,000
Al 21,000
Rrarog o BAMAUASEALS (KHA) 221,980 173,000 48,980
307 2Iz2t0| & 221,980 173,000 48,980
05 QIZ2tREF 2 221,980 173,000 48,980
OXAMEY HAHUSE A (XA
138,980,000& * 1JH A 138,980
OFNAHUASAHEHE A2 Q1A
83,000,000& = 1H 83,000
Sz 29 10,000 10,000 0
= 2,000
Al 8,000
201 et d]| 10,000 10,000 0
o 2,000
Al 8,000
03 HAI2 G HI 10,000 10,000 0
OXMEEZZ N 24 10,000,000 10,000
& 2,000
Al 8,000
XIOH Ol &t 2tel AFY 3,000 0 3,000
201 LBt 9| 3,000 0 3,000
03 A2 E H| 3,000 0 3,000
OXIOHo e wAal 2 A| 100,000 = 203] 2,000
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2N

HE: ALSZ
Sl 2HUANB 25 U AV T4 (B9 ®R)
5 - 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OXNERY 29 1,000
OZ AR 100,000 = 23| 200
OsBE= 1,000 = 80074 800
MNAaASE X 22 X2H| K& 10,000 0 10,000
& 3,000
Al 7,000
307 giztol A 10,000 0 10,000
& 3,000
Al 7,000
05 QIZtRES 10,000 0 10,000
OXA/AS X 22X =H K&
10,000,000 * 1JH A 10,000
& 3,000
Al 7,000
A Ot=s9 HAAS 7S 940,352 862, 169 78,183
= 46,862
Xl 199,260
J| 282,631
& 162,879
Al 248,720
HAEMD AASA QS HI A& 4,423 4,423 0
J| 2,211
& 1,106
Al 1,106
308 XHXIEHSOIA 4,423 0 4,423
J| 2,211
& 1,106
Al 1,106
10 2| 2SHUSHE A X HE A H 4,423 0 4,423
OFAEAD AAMNEA OS2 Hl X
4,423,000 4,423
J| 2,211
& 1,106
Al 1,106
ADAIMOPA 22| X & 284,657 241,770 42,887
Xl 199,260
Al 85,397
308 XX G SO0l A 284,657 0 284,657
Xl 199,260
Al 85,397
10 2| 2SHHSHE A X HEH A H 284,657 0 284,657
OAD A MOt H 22| A XIS 284,657,000& 284,657
Xl 199,260
Al 85,397
A0 ALHENAY 5,487 7,492 A 2,005
J| 4,390
= 329
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SA HRABAA
Bu: AYET
e 240 Ots2 H2LAE RS (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 768
201 LBt Y| 1,857 1,856 1
J| 1,486
= 111
Al 260
01 AP 22| H| 1,857 1,856 1
OAMNE =2 1,857,000 1,857
J| 1,486
& 111
Al 260
307 QI2t0| ™ 899 5,636 N4 737
J| 719
= 54
Al 126
o1 o= 899 1,033 AN 134
OYY Xl 2alots =& 899,000& 899
J| 719
& 54
Al 126
308 XX EH SO0l A 2,731 0 2,731
J| 2,185
&< 164
Al 382
10 2| 2SHUSHE A X HE A HI 2,731 0 2,731
O & &l 2,731,000 2,731
J| 2,185
o 164
Al 382
Ao H2 Y HA 4,076 5,501 A 1,425
J| 2,038
& 1,018
Al 1,020
201 et d| 366 441 ANTH
J| 183
& 91
Al 92
01 AR 22l ] 366 441 ATH
OREANH (EE)HI 366,000 366
J| 183
& 91
Al 92
307 2Iz2to| A 3,710 5,060 A 1,350
J| 1,855
== 927
Al 928
01 e =t 3,710 5,060 A 1,350
O & AtHI 3,710,000& 3,710
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SA HRABAA
M ALEZ
2 240 0fs2 AZAS2E (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Jl 1,855
< 927
Al 928
Ol=0F ¥ A& S0l&0t o= HI 102,695 92,955 9,740
J| 51,347
< 25,674
Al 25,674
307 gl2tol & 102,695 92,955 9,740
J| 51,347
< 25,674
Al 25,674
01 2222l 102,695 92,955 9,740
O0l=0t & d&dH0l40t 2= H|
102,695, 000& 102,695
J| 51,347
< 25,674
Al 25,674
SELHAIOI &AL & S0t 2 59,402 69, 342 A 9,940
J| 29,701
< 14,850
Al 14,851
307 glz2tol & 59,402 69, 342 A9,940
J| 29,701
< 14,850
Al 14,851
01 222l 59,402 69,342 A 9,940
OdEd A0l AL & Eotatel
59,402,000 59,402
J| 29,701
< 14,850
Al 14,851
HEEAEHA+F 1,540 1,390 150
J| 770
< 385
Al 385
307 gl2tol & 1,540 1,390 150
J| 770
< 385
Al 385
05 RIZHRIE 3 1,540 1,390 150
OHZEZXNEHATEF 1,540,000& 1,540
| 770
< 385
Al 385
HUERI A 346,849 28,898 317,951
J| 173,424
< 86,712
Al 86,713
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2N
X ZH -
L= B

el

N

Y x
0x 0¥ o
oMY

BN H

FS2l A A

2

o

ton

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
101 14 Hl 29,337 28,898 439
| 14,668
< 7,334
Al 7,335
04 JIZHHZ2XREES 29,337 28,898 439
OHYRRRNA BxoH 29,337
(@)iRal:] 28,637,000& 28,637
| 14,318
= 7,159
Al 7,160
OZFEFOtHI 200,000& = 1H « 23| 400
| 200
< 100
Al 100
O=XNEQAUE 300,000& = 1H = 13l 300
| 150
= 75
Al 75
307 gl2tol & 317,512 0 317,512
J| 158,756
< 79,378
Al 79,378
01 2=2L =4l 317,512 0 317,512
OML=Z A=t 258,720,000& 258,720
| 129,360
< 64,680
Al 64,680
O3 =T A=l 58,792,000 58,792
| 29,396
< 14,698
Al 14,698
DL aR oI K& 37,500 0 37,500
| 18,750
< 9,375
Al 9,375
307 gl2tol & 37,500 0 37,500
J| 18,750
= 9,375
Al 9,375
01 2d=2L =4l 37,500 0 37,500
oAU NMR ozgHl XN 37,500,000& 37,500
| 18,750
< 9,375
Al 9,375
HASESE JINHA ZH=ES XIAS 93,723 0 93,723
= 46,862
< 23,430
Al 23,431
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N

2N

X{ XH -
S =

Y x
0x 0¥ o
oMY

BN H

FS2l A A

2

o

ton

SN FH-SA(EN) - MBAY - BES

=

i
2m

308 XM S0IH

= N H

93,723
46,862
23,430
23,431

93,723,000

= M W

93,723

93,723
46,862
23,430
23,431

93,723

H

n

6,321
1,000
925
896
3,500

4,357

1,964

3,000

3,000

2,000

2,000

I
10
nc
gI:
=
Oh

22

1,000& * 2,00004

2,000

2,000

2,000

202 o4 Hl

1,000

1,000

01 =LHOI LI
OHbl, ot

[u]

=

m
I
W

& 0ddl

1,000,000&

1,000

1,000

XAl DNAT 2

J|

1,357

A 36

307 &

2
=]
[l

Jl

1,357

A 36

2
10
t

o
ot
t
=

©
0l
o
1o
U
=
Im

1,321,000&

mn X

1,357

A 36

ASHASI SXIXE

= N H

2,000

307 21201 &

= N H

2,000

<
o 1o
40
I ohe
o
1]
==

500,000& * 404

o

2,000
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SM: HEBAL
Bu: AYET
SH9l: olorp e (S &2)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
HE A 500
HEHSHAH(MREAA) 634,922 583,843 51,079
ol 2 A | 524,630 489,823 34,807
Ol A4 H| 524,630 489,823 34,807
101 @1 21| 524,630 489,823 34,807
01 &4 120,943 112,518 8,425
oYptx 120,943
OznRLLY
9,332& * 30AlI2t » 36H » 128 120,943
02 JIEt& 2% 71,413 93,472 N 22,059
O LerA I 1,449
Oxm=22RE
12,071& * 10AI2t = 1€ = 128 1,449
OZ2F 2 A2 At 69,964
Oxzh=22¢ 2,764
~CH 11,072& = 58 = 4A|2F = 10 2,215
-= 9 6,851& * 29 x 4A|2F x 10Y 549
Orzegsdd=2 800,000& = 7 = 12& 67,200
03 2IAHAZZXHE = 332,274 283,833 48,441
OYPB2A(3H) 144,268
ods(or2) 83,619
“21TE X (L A2 AL 30,958,000& * 1Y 30,958
18 XH(2ZtS X2 AH) 28,975,000& ~ 1H 28,975
-10E XH (22 X2 AH) 23,686,000 * 1Y 23,686
(OE3=] 20,258
—EUI2REFY
,100@ = 15A12F = 3Y = 128 4,914
-A X = 83,619,000 / 3652 x 20! 4,582
25 83,619,000 * 10% 8,362
-tEY 2,400
ol 2 Xt 40,0008 * 29 x 12& 960
=l & 20,000& * 6YH » 12& 1,440
O=clZ=MH] 27,082
- E E0H)
83,619,000 /128 = 60% * 23| 8,362
-S| 130,000& + 39 » 12& 4,680
-= &l 130,000& * 3¥ = 128 4,680
-JFH X & H] 175,000 » 3Y¥ x 128 6,300
-StH|E X4 382,500 * 2H * 43| 3,060
O4HEE D282 13,309
-H2AEE 124,900,000& * 3.035% 3,791
A AUEE 3,791,000& * 6.55% 249
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SA HRABAA
HM: 2B (MFEAHL)
chel: ol gyl CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
-=01H= 124,900,000& * 4.5% 5,621
-N288 124,900,000& * 1.5% 1,874
-MTHE S 124,900,000 = 1.42% 1,774
OEs222(13%) 187,736
o= 69,137
-ER3R4Y
9,100 * 15A12 » 138 « 128 21,294
-0t Xt g
19,719,630& /3652 * 13 x 20! 14,047
=5Y 19,719,630& * 10% * 13H 25,636
-tESY 8,160
- IR XA 40,0003 * 99 = 12& 4,320
Bl 20,000& = 13¥ * 12& 3,120
< AT XEA 30,0008 » 2 x 128 720
O=22|= 4| 76,276
-HE S|
19,719,630 /128 * 60% * 13H * 23| 25,636
-= &t 130,000& * 13¥ = 128 20,280
=JbH K& H| 175,000& = 13¥ » 12& 27,300
-StY|E X4 382,500 * 2H * 43| 3,060
O4HEE J|&232=2 42,323
-AHAAEE 397,244 ,000& * 3.035% 12,057
- QAL E 12,057,000& * 6.55% 790
-=20132 397,244 ,000& * 4.5% 17,876
-1Eg8d 397,244 ,000& * 1.5% 5,959
-MESE 397,244,000 * 1.42% 5,641
ou=d(AsXE L XNSEA)
90,0008 * 3H 270
| 23t 110,292 94,020 16,272
DR ]l 110,292 94,020 16,272
201 Bt A H| 45,462 39,620 5,842
01 At 22l bl 37,128 31,340 5,788
OJlegRsaAE| 18,000,000 18,000
ojlEsE 984
O LXK 15,000 = 2IHAF = 12€ 360
O Xl & Xl 13,000 = 404 AF = 128 624
oOZ2dl(JI=&Hl) 18,144 ,000& 18,144
02 3524t 8,334 8,280 54
oRH2 8,334
O gt 270& * 1,500 * 12&€ 4,860
O&I 1,930& * 150 x 12&€ 3,474
202 04d| 49,680 48,600 1,080

_69_




SN HRZAA
H: HY2HAH(MREHA)
Ee: I3 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
01 2L I 29,160 27,000 2,160
©OJ|=Z&H| 29,160,000 29,160
02 & 4| 20,520 21,600 A 1,080
OBAHA oAR2AAL XECE =X
170,000€ * 3¥H = 128 6,120
OsHNY H28H FA
200,000& ~ 6% * 12€& 14,400
203 €2 F=&d| 9,300 5,800 3,500
01 J| 2 2SH L RE=XH| 3,300 0 3,300
oBAHAH 3,300,000& 3,300
02 AAADJALAH 2 =X H| 1,440 1,360 80
O X KA & & AHH| 40,000 * 36H 1,440
04 BN2HALZ Y| 4,560 4,440 120
ORNSIYLEX 4,560
0302 0] st 350,000 = 128 4,200
0300 =1 5,000 ~ 6 * 12& 360
405 Ko SHI 5,850 0 5,850
01 XML 2 FF S| 5,850 0 5,850
OUWLIEI D (SRIXZBA, 2= HYA)
2,000,000& = 2CH 4,000
ORIKAZORH(EAILA, B2 A
50,000& = 24 100
OMED| (St BARZ A) 550,000& = 1CH 550
ONEI(BEEAHXA) 1,200,000& = 104 1,200
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= o
A & 0l & AF 2 E A A
20168 & =04 LBHSIH AEEAL BAFMY ~ FABAHL
SN sEEAA
HE: AYSH
CHelr BAABAILIB DS EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
g8EAL 8,074,450 7,948,025 126,425
=2 103,388
Xl 184,500
J| 2,675,277
= 871,868
Al 4,239,417
Pl = 7,234,387 7,164,120 70,267
= 103,388
Xl 184,500
J| 2,675,277
< 871,868
Al 3,399,354
SHAS AL = 887,703 871,621 16,082
= 35,000
= 15,128
Al 837,575
M2 MHA 23 133,493 89,836 43,657
101 @124l 82,339 31,926 50,413
04 JIZHHNZ2Z2XNSE+ 82,339 31,926 50,413
© 2| Bt AL 65,135
Ol 250,000 = 1H * 262 * 9 58,500
C4EE JI22E3 6,235
AL L2E 58,500,000& * 3.035% 1,776
B3I eLEE 1,776,000& * 6.55% 117
=03 58,500,000& * 4.5% 2,633
-1EEE 58,500,000& * 1.5% 878
“MTHEE 58,500,000& * 1.42% 831
OZ & Fotyl 200,000 » 1Y « 23] 400
Oz K& 2tz 17,204
Ol 58,400% = 1% » 262 = 102 15,184
C4EE= JI22E3 1,620
-ALEE 15,184,000& * 3.035% 461
-“H3IRLEE 461,000& = 6.55% 31
=03 15,184,000& * 4.5% 684
-IEEE™ 15,184,000& * 1.5% 228
“MTHEE 15,184,000& * 1.42% 216
OFE=FtHI 200,000& = 1H =« 23| 400
201 Let24d] 19,910 22,060 A 2,150
01 At 22l 19,910 17,060 2,850
oO%Hy 2= 60& = 12,0000H 720
OBAMA QIH(35) 11,0008 * 3008 * 3= 900
OXEIE=ZH=E 50,000& = 12& 600
oscxzd, st 24 1,100




SN EHBAL
HE: AYSH
Chel: BHS AR S (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OHMEEXHelE MM 95 200,000& * 33 600
OAHE ¥ HEZ HEH 200,000& = 13l 200
OEt= 10,0002 *» 30& 300
o1l =l 5,340
O2l At 90,000& » 99H 810
(OFSETES! 90,0003 = 459H 4,050
OEAZZE 120,000& = 2H « 23| 480
OZ3SEHAAN =422
300,000& * 3 A + 12& 10,800
OMU3=229 B2=IH 150,000& * 3 450
202 odl 10,560 12,960 A 2,400
01 = LH o4 1l 10,560 12,960 A 2,400
CHEEEL T AY]
20,0003 = 29 x 2 » 12& 960
OS2 2H2A JI=3HI
20,000& = 8F * 5 » 123 9,600
203 YR =&t 1,000 0 1,000
03 A FXH S Z= XY 1,000 0 1,000
OEAHAY HR2FA 1,000, 000& 1,000
301 et a3 1,000 13,000 212,000
01 A3l EE H =5l = 1,000 1,000 0
O&FIIJIZE MEX |23  1,000,000& * 1H 1,000
307 glz2+ol & 18,684 6,520 12,164
01 2L =4l 18,684 6,520 12,164
odza 29 12,800
OB5MI0I & =l 2R 2F Al
1,200& = 10,000 12,000
o= 680,000& 680
Ox2E 120,000& 120
ostezlgs 24 3,500
OA%E 2,300,000& 2,300
OALEE 1,200,000 1,200
o=2cxzd 29 2,384
OAxZ(agxE2H) 1,400,000 1,400
O22F (Y FMIXBIME S)
984,000 984
SHL2GF 333,610 304,873 28,737
201 B2 Y| 292,316 270,057 22,259
01 At 22/l 95,209 44,780 50,429
OLBdAHA=E S M o4
10,0003 » 50&H = 2& 1,000
OCIZANERE ZRIHEU 7,700
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SN BHBAL
Bu: AYET
©e: B AL RS (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
ooz 4,620
- et 220,000& = 38 « 53] 3,300
== 330,000 * 4& = 13 1,320
(OFSE=3-] 220,000& * 15 62l 1,320
O<ojetate|old ot 220,000 * 4& = 23] 1,760
OUIANRE SAEX 945
ogaa 21,0008 * 26%tA 546
(OFSE=3-1 21,0008 » 149t A 294
O2ojetatel olsf ot 21,0003 = 52fA 105
OZENSE 1,770 = 3004 = 128 638
OstE s &
35,000 = 3&kA « 1A + 128 1,260
OHEES 30,000& = 1A = 128 360
odz=)l 2U= 5,760
(OF-FaFE 45,000& * 2CH = 128 1,080
O)--FaPNES 35,000& * 4002 + 128 1,680
O)-FaFSE=F 50,000& = 502 + 128 3,000
OB MAIE 22IES 2,896
Od2g &4zZH 56,000& = 16L 896
OAN&EE =2l TN 100,000& * 20& 2,000
OARZEINB0 Ut === 74,650
ORdTEH =2 12,840
24 170,000& » 1HA « 128 2,040
== PN E 100,000& » 444 « 123 4,800
=R g 100,000 * 54 » 128 6,000
OsZJIEIEMN == 400
-BAA 280,000& * 1Hax = 13 280
“EAXA(2E) 120,0008 * 1HA + 18] 120
OsZJigtdae == 3,240
24 150,000& » 1A « 123 1,800
—BAXNA(2E)
120,000& = 104 « 123 1,440
OdJlotdze Ui+ 2 12,120
24 570,000 = 1HA = 128 6,840
=R PN E 110,000& » 404 « 128 5,280
OFII&H HIEAMN =2 1,150
24 1,000,000& = 104 « 13 1,000
“EAX (W) 150,000& * 1M = 13 150
OLg(LshHAIE BH Hx+2
200,000& = 1HA = 128 2,400
O2s=HelAld 2 12,000
-2AdE4 200,000 = 5 A = 128 12,000
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S EECLEEPS
Ha: ALSH
EEEENEREEE

SA - ZE-B(EA) - NRAY - B S il
OSZEIA(NG) FIZMNF+8
200,000& * 14 * 13 200
OA BAUBE22
2,200,000& = 10HA « 123 26,400
OzgdHIIEMel == 3,900
2244 100,000& = 10 + 128 1,200
L DNEN 25,000& * 4002 + 128 1,200
-2A8z A 25,0003 * 5J 4 * 12& 1,500
02 =224l 197,107
03223 % HA 136,344
OXstea (54, 4) 12,0008 » 1228 144
OoNIIe3 5,500,000& = 12& 66,000
O.dt=c= 2,500,000& = 12& 30,000
OZAItAZ 3,300,000& * 12& 39,600
Ondgss 50,000& * 10HA * 128 600
OJtAALDHHA MU H 10,0008 * 13/ 10
OnExRLFES 800,000& = 13l 800
OXNERXH(EE NSXHAH S E&) 30,637
oss(1th) 4,908,000& =« 1CH 4,908
OSE(1th) 6,551,000&  1CH 6,551
Ost=(2th) 4,299,000&  2CH 8,598
Ox=(1th) 3,080,000& = 1CH 3,080
O&A Xt (3CH) 2,500,000& =« 3CH 7,500
OM=ZX EA 10,000& = 110 * 23l 2,200
OMz==x =ZHAA==Z 100,000 * 13| 100
O&sx HFA 15,000& = 100 * 13l 1,500
OHlaZdI| 7X 22yl 1,832
SEUH(ZR) 1,325%& * 54 x 503 332
O KXl 1,500,000& * 1CH 1,500
OFEAAE S X 17,684
OBAA(22) 540l6t
1,222% = 2,049m = 10{ 2 2,504
OEHA(g2) 20406t
3,549& = 2,701m » 1JH A 9,586
O8AX A& 3,367
-5 0| ot 1,222 = 659m » 201 A& 1,611
-104 0l of 2,280& = 385m x 2JH A 1,756
O)-FaRSE=F 2,227
-10= 0l &t 2,280& * 164m x 304 & 1,122
-154 0| ot 2,968& * 186m * 2 1,105
(©RSIE=p g [E N | 6,000
(@)= ES 1,000,000& * 6CH 6,000
401 A& HI LS O H 41,294

_74_




SN EERAL
M ALEZ
Crel: RAARAAIIYRE (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 A& HI 41,294 26,100 15,194
o222 M2(E9EHAL 22)
2,500,000 2,500
OE=4 W) Ma & =d(E82244 &
2) 34,000& = 200R 6,800
OHIY UM HA L HU(E4E22HL
B KA FHBA) 40,0002 * 120CH 4,800
O34, 24U c8BI B
2,000,000& =« 2CH 4,000
0S4 QAlE YLTAH(SHZAALD)
5,000,000& 5,000
OsSHIEA =4 & AHY ANl SA
11,000, 000& 11,000
OUMEAT L YUY FILE 3 ED
7,194,000& * 13l 7,194
SAEAXN L 29 184,306 198,432 A 14,126
101 @124 dl 93,762 93,729 33
04 JIZHHZ2Z2XNESE S+ 93,762 93,729 33
OULES W& A 93,762
ool 250,000& * 1% * 262 = 128 78,000
CAEEII22E 3 8,312
-A2=2E 78,000,000& * 3.035% 2,368
B3I eLEE 2,368,000& * 6.55% 156
=03 78,000,000 * 4.5% 3,510
-IE2E 78,000,000& = 1.5% 1,170
- EE 78,000,000& * 1.42% 1,108
OFEFItHI 200,000& = 1H « 23| 400
O=XEAE 300,000& » 1H 300
O&l &= 6,750,000 6,750
201 Let249] 87,986 92,235 24,249
01 At 22l 46,366 37,195 9,171
OMERES 50,000& = 2& » 12& 1,200
O=AEX 21,000& * 20&8tA 420
OEUW IHECX 220,000& = 68 * 23| 2,640
odz=Jldls 50,000& = 20H = 12& 1,200
OAx7AZEY M0 et === 35,310
OfRUAdTEH =8
170,000& = 1A « 12 2,040
Os2J EIAM =2
150,000& * 1JH 4 * 13 150
OsZ)| Ad2ACIHE =2
150,000& = 10 + 1228 1,800
O&JItd e ==
160,000& = 1A » 122 1,920
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SN BHBAL
Bu: AYET
Crel: RAARAAIIYRE (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OZg(FHNE B2 HE=+E
220,000& * 1oHA = 128 2,640
OFAN HAUY =22
2,200,000& * 10HA « 12&8 26,400
OZEHHIIZ2 L HEKX- I
30,000& * 12& 360
OMEX=A 29 630
OHEI A EHHI 65,000 * 23| 130
OLYADE(EUHAIEME 2 48)
100,000& * 5& 500
OFANZ2ES 4,216
OclYEl# 29,000 » 12t A « 12& 348
O EE= 35,000 » 22t A x 12& 840
OSJI8eH 3,600 * 8 « 12& 346
OHIINMAEH 30,0003 = 28tA x 12& 720
OZHNSE 1,860 = 2008 128 447
S8 E 12,5003 * 28+ A « 128 300
OFHAE &A 2 143 81,000& * 15& 1,215
OJIH,HMIANE & 2D AM 750
OXYIIF 2 298 25,000& * 30 750
02 33294l 41,620 53,080 A 11,460
03322 % MA 33,720
Odzte2 10,000 = 128 120
(OFsPIETE= 1,300,000& = 12& 15,600
O&dl==22 200,000& = 12& 2,400
OZANIIARZ 1,300,000& = 12& 15,600
OM=%X &3 A =& 100,000& = 13 100
OMz=ZxX HA 400,000& * 23| 800
OXNHRXH(EE N=SXAM & =&
2,500,000& = 204 5,000
OIA A DA BHAEH 10,000& = 13 10
O @ &Hl SA22 500,000& * 23] 1,000
O A YA UPSHH & 2l 12 Xl 990,000& * 13 990
307 212t01 & 2,558 3,048 AN 490
01 2L 2= 4| 2,558 3,048 AN 490
OMEXNE X= 1,050
Oz AgA 7,000& = 15004 1,050
OMEXNEA ADE 508
OXXd X 2 35 127,000& * 45 508
OOHHAEAIYE A2 F 1,000
OExgAE 9 35 1,000,000& 1,000
BAXNALAR2H 56,044 83,620 N27,576
201 2yt 2 Y| 46,544 65,220 ~ 18,676
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SN BHBAL
Bu: AYET
Crel: RAARAAIIYRE (S &2)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
01 AFR2 22l Yl 6,720 11,720 A5,000
OANREE 7 200,000 = 4004 = 23] 1,600
OZeHEUY 220,000& * 28 * 412 * 23] 3,520
oOFHAEE 200,000& * 40 = 23] 1,600
02 332494l 39,824 53,500 N 13,676
03322 % MA 39,824
O3 38,000,000& 38,000
O&dl+=E23 28,000& = 4014 = 128 1,344
ORdgdss 10,000& = 400 A = 128 480
307 212t01 & 9,500 16,000 AN 6,500
01 2L R = H| 9,500 16,000 A 6,500
oOsEEAHXA 3,000
O9oZ (& Z,8te) 2,000,000& 2,000
OARE(XZ,st) 1,000,000& 1,000
OLLEMHALZAHX A 480
OXx2E 480,000& 480
OXUHE AR A~ 2,000
O %= 1,500,000& 1,500
oArBE 500,000& 500
OSAMEBAX A 2,000
Oz 1,500,000& 1,500
oArRE 500,000& 500
OScXza 2H (25,24 1,520
OSAE(AHEXZH) 7,000& * 1005 E 700
OAZE(MN=ILXNSIWE S)
82,000& * 10& 820
ONEMASI ME(S,=S4H
250,000& * 204 & 500
BNz A2Y 106,489 121,100 AN 14,611
201 L2 | 43,939 63,830 £19,891
01 At 2t 2l Yl 10,900 11,050 A 150
OMRBEE F¢ 200,000& * HIOHA = 23] 2,000
OZelHEY 220,000& * 28 * 501 * 13 2,200
OFHAEE 200,000& * 5JHA = 23] 2,000
oss=2dHiN=E A HIIE3 SSH
100,000& * 504 4 500
oBHANz A 2HEg FEA&H
30,000 * 14Y = 50 A = 23] 4,200
02 =294l 26,739 45,500 N 18,761
03323 % MA 24 472
(OFrsPIETE=: 22,840,000& 22,840
Oadt==2=2 852
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SN BHBAL
Bu: AYET
Crel: RAARAAIIYRE (S &2)
DA HB B (EH) - MBAY - BAS o A o SSa H RS2
-S4 (B, 2H.,.858)
5,000& * 3HA + 128 180
MBS E (B 42)
28,000& = 24 = 128 672
ORrddss 13,000 = 50 A = 128 780
O¢H2H|(EHA) 9413 * 9AIZ2+ » 120 1,017
oHiaMAEH 250,000& * 504 4 1,250
03 A2 H H 6,300 7,280 A 980
oOALsNIEZZz)H 299 6,300
OZAIZ 50,000& = 5J A = 123] 3,000
Ogx=a & =l
55,000& = 5 A = 123] 3,300
301 dEtE A= 3,000 7,700 AN4,700
11 IIEtE A2 3,000 3,500 A 500
OBANZAS2HAE IS 25+
50,000& = 50 A = 128 3,000
307 212t01 & 56,600 45,000 11,600
01 2L PR Z bl 56,600 45,000 11,600
os3=s2AHAE A 10,000
Oz 9,200,000 9,200
oArRE 800,000 800
OBl AR & A 10,000
O %= 9,200,000& 9,200
oArBE 800,000& 800
O2HEAHE=Z A 14,000
Oz 13,000,000& 13,000
oArRE 1,000,000& 1,000
oazEBAHIZ A 10,000
(@)SIRsly— 9,200,000 9,200
oArRE 800,000 800
oss:2AHIZ A 10,000
[@)ipcly— 9,200,000 9,200
oArBE 800,000& 800
ONSHANSI A2 520,000& * 504 4 2,600
405 XH&HF S HI 2,950 3,070 N 120
01 AL 2B F SHI 2,950 3,070 N 120
OIS RH(AZ) 1,850,000& = 1CH 1,850
OTZ2HAII(AZ, EHA) 250,000& * 2CH 500
OANSRZ2XH(EHA) 300,000& * 1CH 300
OYDIAIXIDI(ZE) 300,000& * 1CH 300
BH%lg MR BN 1,000 1,000 0
& 300
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SN sEEAA
HE: AYSH
Chelt BRAC B AIMIIYRE CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 700
201 LBt Y| 1,000 1,000 0
&< 300
Al 700
01 AP 22| d| 1,000 1,000 0
240 =H| 200,000 = 5 1,000
o= 300
Al 700
BAHIZ A 8xola & 20,261 18,260 2,001
=} 6,078
Al 14,183
101 e1214| 20,261 18,260 2,001
& 6,078
Al 14,183
04 JIZtHIZ22XNSESES 20,261 18,260 2,001
OEXola ol (5H) 4,052,200& * HhH 20,261
= 6,078
Al 14,183
sHE BAHOY= HEIA HEAY 52,500 22,500 30,000
= 35,000
= 8,750
Al 8,750
405 XHo&HF S HI 52,500 22,500 30,000
= 35,000
= 8,750
Al 8,750
01 XA 2 ZF S| 52,500 22,500 30,000
OBAHAMAXIZ(20H) 52,500,000 52,500
= 35,000
= 8,750
Al 8,750
MEtE H2A XD 1,346,781 1,315,650 31,131
= 13,944
J| 601,074
& 135,978
Al 595,785
ASIAHAAUS 128,083 37,719 90, 364
101 @121 H] 98,083 37,719 60,364
04 JI2ZtHIZ22NEE S 98,083 37,719 60,364
O X 1t 2 AF 65,135
oerAgl 250,000& * 1€ » 262 = 9 58,500
O4EgZ J|a8e=2 6,235
-H2AEE 58,500,000& * 3.035% 1,776
- RLYEE 1,776,000 * 6.55% 117
-=0133 58,500,000 * 4.5% 2,633
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soEAA
A2=7
ME AT 9 EE)
- _ _ RE]
S C(BH) - HEAY - BAS %Eﬁ HR=2
-NE88 58,500,000 * 1.5% 878
-AMIHEE 58,500,000& * 1.42% 831
OY ZE I 200,000& * 1Y = 23| 400
OSEHHLSTALY ST AHA(12H) 32,948
o4y D22 24 548
-2ALd2E 230,400,000& = 3.035% 6,993
- QUL E 6,993,000 * 6.55% 459
-=01H= 230,400,000 * 4.5% 10,368
-lsgd 230,400,000 * 1.5% 3,456
-MEE 230,400,000& = 1.42% 3,272
OY &I 200,000& = 129 * 23| 4,800
O=2XNEIUE 300,000 = 12& 3,600
307 QI2t0| ™ 30,000 0 30,000
04 CIZ2tSHALALS B X 30,000 0 30,000
oAxIdeldl ¢« NI HE
30,000,000 30,000
ol ORI (SEU)AEY 26,029 33,777 NT,748
J| 13,014
= 3,904
Al 9,111
307 2iztol & 26,029 33,777 NT,748
J| 13,014
= 3,904
Al 9,111
o1 s R=dl 26,029 33,777 AT ,748
OFHMAAX S(5F) 26,029,000 26,029
J| 13,014
& 3,904
Al 9,111
MOfNED| HE 4,950 6,349 A 1,399
J| 3,960
Al 990
201 et 9| 425 556 A 131
J| 340
Al 85
01 AFR 2t 2| bl 425 556 A 131
OMHAMED 2H2A g 1,000 = 42504 425
J| 340
Al 85
308 XHXIEHSOIA 4,525 0 4,525
J| 3,620
Al 905
10 2| 2SHUSHE A X HE A H] 4,525 0 4,525
OMAMED| HUYHK 4,525,000 4,525
J| 3,620

_80_




SN BERAL
Ha: AYSH
Mg AL (B9 ®R)

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 905
s R 150,000 163,708 A 13,708
J| 75,000
< 22,500
Al 52,500
101 @144 Hl 5,500 5,500 0
J| 2,750
< 825
Al 1,925
04 DI Z22XREE S 5,500 5,500 0
O ALY A 5,000,000& * 1 5,000
J| 2,500
< 750
Al 1,750
o4l 2= 5,000,000& = 10% 500
J| 250
= 75
Al 175
308 AHAIEHHSOIA 144,500 0 144,500
J| 72,250
< 21,675
Al 50,575
10 B2 S0t B & H A 144,500 0 144,500
o2& &AL 144,500, 000 144,500
J| 72,250
< 21,675
Al 50,575
2SN ALY 17,430 21,960 A 4,530
= 13,944
< 1,046
Al 2,440
308 XXM SOl A 17,430 0 17,430
= 13,944
< 1,046
Al 2,440
10 BN 2SUHUS3AHHH A 17,430 0 17,430
o%z2s0 ==& & 17,430,000& 17,430
= 13,944
< 1,046
Al 2,440
2ol HI X 170,450 150,803 19,647
J| 85,225
< 25,567
Al 59,658
307 2201 A 170,450 150,803 19,647
J| 85,225
< 25,567
Al 59,658




SN BHBAL
Bu: AYET
CHel: MEE HA2AX I (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
01 sd =t 170,450 150,803 19,647
oE X o2 Hl K& 946,940 * 180H 170,450
J| 85,225
o= 25,567
Al 59,658
INRS- DN AR YN 46,396 43,750 2,646
J| 23,198
Al 23,198
202 o4l 500 500 0
J| 250
Al 250
01 2L Y| 500 500 0
OX S A HZEZAF (4| 500,000& = 1H 500
J| 250
Al 250
307 2Iz2t0| & 45,896 43,250 2,646
Jl 22,948
Al 22,948
05 QIZ2tREF 2 45,896 43,250 2,646
O X = A3l HZ XA 45,896,000 « 13| 45,896
J| 22,948
Al 22,948
AN SEHHLASIAY 532,516 638,033 A 105,517
J| 266,258
& 53,252
Al 213,006
101 2121 H] 332,947 354,422 N21,475
J| 166,473
& 33,295
Al 133,179
03 RIAHLZ2ZZ2XE S 216,097 185,422 30,675
OSEHUZSX A Q24|
19,719,630 = 10¥H 197,197
J| 98,598
= 19,720
Al 78,879
OSEHAUZX ALY D EH|
130,000& * 10¥ 128 15,600
J| 7,800
& 1,560
Al 6,240
OSEHHUSEAIY M2 HEN=H|
240,000 = 10¥ 2,400
J| 1,200
=} 240
Al 960
ORJIHAXZZ X I =H| 90,000& = 10Y¥ 900
J| 450
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SN EERAL
Bu: AYET
Sl B A LRI (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Il 2,500
< 500
Al 2,000
202 O4dl 7,000 6,000 1,000
| 3,500
< 700
Al 2,800
01 = LH 4 1l 7,000 6,000 1,000
OSgHZEE s & EZF0WH 7,000,000 7,000
| 3,500
< 700
Al 2,800
307 21201 A 150,334 179,720 A 29,386
| 75,167
< 15,033
Al 60,134
01 =21 =4l 150,334 179,720 A 29,386
OS2 HHLIH (A0HE) 2,500& = 1,000 2,500
| 1,250
< 250
Al 1,000
O2AHUA (L0 &) 2,500& = 9004 2,250
J| 1,125
= 225
Al 900
OstWPAEHA 2H(0tATQ 5F)
1,500& * 1,400 2,100
| 1,050
< 210
Al 840
OctHA=ZHER 58  10,000& » 58 1504 750
| 375
= 75
Al 300
odzgazaae SdAHE AE
150,000& * 100 15,000
| 7,500
< 1,500
Al 6,000
odzlgadyeae 82 AE 50,0008 * 408 2,000
J| 1,000
< 200
Al 800
Ot & &I &Y ZE Jd&Hl 23,0003 * 58H 1,334
| 667
< 133
Al 534
OZLEHAANLY BSAME
5,000& = 130 » 12& 101,400
| 50,700
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TP
AYEF
MES AL (el @2)
A ZE a9 (3) - HRAY - By Ol &+ o4 SSa HmEET
< 10,140
Al 40,560
OWAEMNUEOISFHAISE (L&t HAH 2 E=E
A 15,000, 000& 15,000
J| 7,500
< 1,500
Al 6,000
OXIHEDIE A 80,000& = 1009 8,000
J| 4,000
< 800
Al 3,200
ZAEOY Il E A A 4,450 4,450 0
J| 2,226
< 2,226
307 212+0l ™ 4,452 4,452 0
J| 2,226
< 2,226
01 o2 2=4| 4,452 4,452 0
O=sdAHE AH 3,852,000 3,852
J| 1,926
= 1,926
OZ2dAHE MHEH2FE 2 18
30,000& * 20= 600
J| 300
< 300
dsUE=SMA AL X 2,088 2,115 AN2T
< 1,044
Al 1,044
307 gl2tol & 2,088 2,115 AN2T
< 1,044
Al 1,044
01 222l 2,088 2,115 AN2T
OZdSUESU dAtHl 2,088,000& 2,088
< 1,044
Al 1,044
AME S SHXNF MHIA 264,387 196,634 67,753
J| 132,193
< 26,439
Al 105,755
101 @124 dl 113,010 101,051 11,959
J| 56,505
< 11,301
Al 45,204
4 D12t ZE2XREES 113,010 101,051 11,959
Oz=ZH&GAH 1A
1,600,000& * 4H * 123 76,800
J| 38,400
< 7,680
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2N EEEAL
Bu: AYET
Sl B A LRI (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 30,720
OZ3HRMAEXNEHE 22|
1,600,000& » 1H » 128 19,200
| 9,600
< 1,920
Al 7,680
O3HIIZHIEXN EEZ(4Y)
1,600,000& * 4H 6,400
| 3,200
< 640
Al 2,560
OS3HIIZ2ZtH 22X &2 (1201 0l &)
3,000,000& » 1H 3,000
| 1,500
< 300
Al 1,200
O3%AY A3 UHE WUl 240,0003 * 4H 960
J| 480
< 96
Al 384
OZ3¢JIZtNZ2Z2 A W=EWHl 50,0008 * 4% 200
| 100
= 20
Al 80
OzHIIZtH 22X &Z I
20,0003 = 5% = 5 « 123 6,000
| 3,000
< 600
Al 2,400
OSHIIZHMIZZ X 1l =4l 90,000& * 5% 450
J| 225
< 45
Al 180
201 Let24d] 57,977 45,487 12,490
| 28,988
< 5,798
Al 23,191
01 At 22/l 53,477 41,287 12,190
oz3dsE:2 ¥ Uiz 8,477,000 8,477
| 4,238
< 848
Al 3,391
o=¢g3cd 24 10,000, 000& 10,000
J| 5,000
< 1,000
Al 4,000
Oz3d M Ald2el 10,000, 000& 10,000
| 5,000
< 1,000
Al 4,000
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S
2z
B A LRI (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OzdH&E3A g3 ¢ 25,000,000& 25,000
J| 12,500
< 2,500
Al 10,000
03 &AL Z I 4,500 4,200 300
oz¢gE=28 294 3,000,000& 3,000
J| 1,500
= 300
Al 1,200
OzHus 2AtHI 50,000& * 302 1,500
| 750
= 150
Al 600
202 4l 2,400 2,400 0
J| 1,200
< 240
Al 960
01 2L 0l 2,400 2,400 0
CEEEEESICI]
20,000& = 2H * 5 * 123 2,400
J| 1,200
< 240
Al 960
301 Lpt2 &3 13,500 10,000 3,500
J| 6,750
< 1,350
Al 5,400
11 JIEtE2 4 13,500 10,000 3,500

2 2dgOI2H Hel)

50,000& = 3" * 902 13,500
Jl 6,750
< 1,350
Al 5,400
307 glztol & 75,000 20,000 55,000
J| 37,500
= 7,500
Al 30,000
01 ==l 75,000 20,000 55,000
O=dE2xH+7Y 18,750& * 4,000 75,000
Il 37,500
< 7,500
Al 30,000
405 TtobFH S| 2,500 17,696 A 15,196
Jl 1,250
& 250
Al 1,000
01 AL ESFH SH 2,500 17,696 A 15,196
ouUZg =FI 2,500,000 = 1CH 2,500
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SN BHBAL
Bu: AYET
el MBS AU SERED)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
Jl 1,250
= 250
Al 1,000
2y 22 MARS 3,446,682 3,562,061 N 115,379
= 7,582
Dl 1,554,867
< 462,259
Al 1,421,974
StA S HSHALE 102,782 97,283 5,499
101 2121 d| 25,122 16,593 8,529
04 JIZtHIZ2E2EXNEE 25,122 16,593 8,529
OYAAES)|I2tN 22 A 25,122
ool d| 54,0503 = 29 x 210 22,701
O4UEEg 28" 2 2,421
-HEAEE 22,701,000& * 3.035% 689
A YEE 689,000 * 6.55% 46
-=20H= 22,701,000 = 4.5% 1,022
-288 22,701,000& * 1.5% 341
-MTHEE 22,701,000 * 1.42% 323
201 Bt A H| 1,500 2,080 A 580
02 332494l 1,500 1,500 0
oOgAALA=SEH RAH| 300,000& = 5CH 1,500
206 M = Hl 73,360 75,460 A2,100
01 XHZ Hl 73,360 75,460 A2,100
OYHAE (2SS 458) 64,560
(@)=Rapn 30,000& = 14 = 990H 29,700
OXsgct 30,000& = 14 = 59404 17,820
OoOgued 30,000 = 14 = 568H 17,040
owdHgE 8,500
OoO&gsE 2 38 500
=] 90,000& * 3H 270
-X7)| 10,000& = 39 30
-OtM 3} 60,000& * 3H 180
-2 X 10,000& = 29 20
OXEI0HM 2 HYSEOITIHM,EAl)
4,000& * 2= * 1,00004 8,000
O=4D MEs &NME & 30,000& * 104 300
301 LerE A3 2,800 3, 150 £350
09 HAIAHIBAZ 2,800 3,150 A 350
OSZES XANIASALAF A0
7,0008 * 20 x 20 2,800
2 a3y 222,494 281,363 AN 58,869
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SN BHBAL
Bu: AYET
& 2EY 2eMAHRS (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
101 14 Hl 9,804 5,916 3,888
04 JIZHHZ22XREES 9,804 5,916 3,888
OUZ=RAUX NLESX JIZMZ 2R 6,504
O2ts At 58,4003 * 4H » 15¢ 3,504
OO0l & 2 A 300,000& = 1& = 10 3,000
OUHAEESSSHE JI2H 22 (1Y) 3,000
O4UEE JIa8E3 2,300
-HAEE 21,556,000& * 3.035% 655
B3I RLEE 655,000& = 6.55% 43
=03 21,556,000& * 4.5% 971
-IE2E 21,556,000& * 1.5% 324
“MTHEE 21,556,000& * 1.42% 307
OFE S ItHI 200,000& = 1H « 23| 400
O=XEAE 300,000& » 1H 300
OHl=SZsiagkt 2t SANEAUE
300,000& * 1¥ 300
201 L2l 19,925 15,627 4,298
01 Al2 22| 14,165 8,002 6.163
ongzasy 249 6,765
OBZY 22F(WAE 2 35)
6,765,000& 6,765
oz 23 2,360
OZdsES 500& * 2& * 1,000% 1,000
OZ#HASI a7 dHE L ZH
170,000& * 4CH = 23] 1,360
OYMNEY 2 1,040
On=sdg 282
20,0003 = 4H « 43| 320
OZHM 2 35 15,000& * 4& = 12& 720
odALs HELII &2 1,000
(OF=3=3 1,000& * 1,00004 1,000
onolzueg 2= 2,000
OEBZ(28) 1,0008 * 2& = 1,000 2,000
OMHTHMHUEY 2HA HPSEE S8
500,000& * 23 1,000
02 2324l 5,760 7,625 A 1,865
O AL PACSM H = X 2 2= H]
1,200,000 =+ 43| 4,800
oOZgY Mg SHRS
40,000 * 2CH = 128 960
307 glz2+ol & 190,265 167,320 22,945
01 22724l 171,265 148,320 22,945
ongzasy 24 89,534
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SN BHBAL
Bu: AYET
ool 2 BRAWNTS (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OWZEE *=(BE2E o 53)
89,534,000 89,534
OFAANE USRI ALY 40,000
O S=FAI Ay 8,000& = 2,000 16,000
OozJla & AE#H 12,0008 * 2,000 24,000
ouHgas=zE 223 4,250
Oouny 2 48 4,250,000& 4,250
OdAMNA 2 37,161
OEZZAM 90,0003 » 120 A 10,800
OHY(H=,0l0l=)ZA A 90,0002 * 68&+A 6,120
OYZ, SctolCior 2 A 13,0008 = 387YH 5,031
OdYeld At 90,000 » 169&A 15,210
OYMNEY 2 320
Oglaol &=50t2 40,000 = 84 320
05 RIZt2IEt = 19,000 19,000 0
Ostdlg 2tel 19,000, 000& 19,000
405 XHobF S HI 2,500 92,500 290,000
01 AR ESFH S 2,500 92,500 A 90,000
OYAHED UPS AMIAE HX(L2EMY)
2,500,000& = 1CH 2,500
St H &AL 22l K& 8,180 8,180 0
2 4,090
< 4,090
301 LA 3 8,180 8,180 0
= 4,090
< 4,090
01 Ml28E 6= 8,180 8,180 0
Ogtd2Z It MAHH X 1,636,000& = 5H 8,180
= 4,090
< 4,090
OOl & A0 16,238 20,397 N4,159
J| 8,119
= 2,435
Al 5,684
307 glz2+ol & 16,238 20,177 A 3,939
J| 8,119
< 2,435
Al 5,684
01 22272l 16,238 6,526 9,712
OO0OI= &ICHAI2E 20K 3,702,000 3,702
J| 1,851
< 555
Al 1,296
odiiHzEdEdA L I=XJ 1,616,000 1,616
J| 808




SN BHBAL
M ALEZ
Aoy BRIHHRE < Ee)
SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
< 242
Al 566
oolol=&xt &ZHl 10,920, 000& 10,920
J| 5,460
= 1,638
Al 3,822
FES A 3,011,994 3,070,244 A 58,250
J| 1,505,997
= 448,468
Al 1,057,529
jellala] 22,202 21,556 646
J| 11,101
Al 11,101
JIZtHZ22HsSE+ 22,202 21,556 646
ONYHES=HE 2% 250
22,202,000 * 1H 22,202
J| 11,101
Al 11,101
gI2tol 2,989,792 3,048,688 A 58,896
J| 1,494,896
< 448,468
Al 1,046,428
g I =24 2,989,792 3,048,688 A 58,896
O OlHEESA A 2,556,184,000& 2,556,184
Jl 1,278,092
< 383,428
Al 894,664
O EAA 422,912,000 422,912
J| 211,456
< 63,436
Al 148,020
OBE2UE =D 2 S0l LA 10,696, 000& 10,696
J| 5,348
< 1,604
Al 3,744
SOl AL 81,502 80,222 1,280
J| 40,751
< 7,266
Al 33,485
jeilala]] 31,622 31,622 0
J| 15,811
Al 15,811
04 JIZHHZ2XNHEE S 31,622 31,622 0
Otz &xtael el 31,622
Odl=sZaaitzel Al
2,064,000& * 1¥ » 123 24,768
J| 12,384
Al 12,384
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EE P
HAzw
2y UL HH RS
SN HE -G (3A) - NBAY - B2 il
SIEEEEEIEEIEEE
1,800,000& = 1H 1,800
J| 900
Al 900
OHlzsZs a2zl ot
20,0008 * 63 » 128 1,440
J| 720
Al 720
O4UBERSYS 2 JIEIH0I3
3,614,000& 3,614
J| 1,807
Al 1,807
201 LBt 1,440 2,500
J| 720
= 216
Al 504
01 AR 22l bl 1,440 2,500
OEEREZE(2EIA2 18) 1,040,000& 1,040
J| 520
& 156
Al 364
OHl=sZHe i 2| 400,000& 400
J| 200
== 60
Al 140
202 04t 1,440 1,440
J| 720
Al 720
01 ZLH0! bl 1,440 1,440
orzeEal SY ofb|
20,0008 * 6 = 128 1,440
J| 720
Al 720
301 LBt A= 2,300 3,000
J| 1,150
= 345
Al 805
01 Al E & A 462 2,300 3,000
OUAHAX MAHUI XS 2,300,000 2,300
J| 1,150
o= 345
Al 805
307 212t0| & 44,500 41,660
J| 22,250
& 6,675
Al 15,575
NEEEEET 44,500 41,560
Ogod EFX &H&H| 7,900,000& 7,900
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SN BHBAL
Bu: AYET
Sl 2HUANB 25 U AV T4 CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 6,415 6,807 A 392
J| 3,208
< 962
Al 2,245
01 22272l 6,415 6,807 A 392
OA&Ex 435 & A2F 6,415,000& 6,415
J| 3,208
= 962
Al 2,245
SIAUGXLEER 2=H XI& 287,049 322,338 A 35,289
J| 143,525
< 43,057
Al 100,467
308 XXM SOIA 287,049 0 287,049
J| 143,525
< 43,057
Al 100,467
10 SII 2SOl CHetZ & = O & A& I 287,049 0 287,049
OsAHHXNLE T 22| 287,049,000 287,049
J| 143,525
< 43,057
Al 100,467
XNohagdy 249 8,286 8,286 0
< 415
Al 7,871
202 Odl 286 286 0
< 15
Al 271
01 = LHA YI 286 286 0
OXIHE SR SF NI 286,000 286
< 15
Al 271
307 glz2tol & 8,000 8,000 0
< 400
Al 7,600
01 22724l 8,000 8,000 0
OXHEXE IIMAHL 45 8,000,000 8,000
< 400
Al 7,600
Xoixl=22eldl X3 (2HLl) 52,000 77,838 A 25,838
J| 26,000
< 7,800
Al 18,200
308 XX EHHSOIA 52,000 0 52,000
J| 26,000
< 7,800
Al 18,200
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SN EHBAL
HE: AYSH
Sl CIRFGNS 7S Y AYHE T4 CERED
5 - 4
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
10 2| 2SHCHSHE A X CHEH A H 52,000 0 52,000
OXIOf XIZ2dl X< 52,000,000 52,000
J| 26,000
o= 7,800
Al 18,200
XIOHEX S SMHEXNH ALY 48,233 48,233 0
& 9,646
Al 38,587
307 QI2t01 & 48,233 48,233 0
& 9,646
Al 38,587
o1 szt 48,233 48,233 0
OXIheX s=sMEXS 48,233,000 48,233
& 9,646
Al 38,587
SIXI ez 29 10,000 10,000 0
o= 2,000
Al 8,000
201 gBt24Ay| 10,000 10,000 0
o= 2,000
Al 8,000
03 A2 G HI 10,000 10,000 0
OeCXMEEZZ N 24 10,000,000 10,000
= 2,000
Al 8,000
A Ot=s9 HUAISPE 1,052,021 863,039 188,982
= 46,862
Xl 184,500
J| 339,528
& 191,332
Al 289,799
DAUEAHAS 18,960 19,860 A 900
201 LBt 9| 2,000 2,900 A 900
01 AP 22| H| 2,000 2,900 A 900
ORNEHA 2 2,000
O TNEHAY CHHAMI & S22
1,000€ = 2,000 2,000
307 QI2t0| & 16,960 16,960 0
o1 o=l 16,960 16,960 0
oOYME HAN(ZHEHM, S M)
6,4002 * 530 * 53| 16,960
HAEMD AASL o=l NS 4,423 4,423 0
J| 2,212
= 1,106
Al 1,105
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2N
X ZH -
L= B

el

sSoEAA
AYER
SED 0HS AL AE P

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
308 XHXIEHSO|A 4,423 0 4,423
J| 2,212
& 1,106
Al 1,105
10 2| 2 SHCHSHE A X A H 4,423 0 4,423
OFAEAD A - SA OS2 HI K&
4,423,000 4,423
J| 2,212
& 1,106
Al 1,105
ADAMOLAH 2 22| AF K& A 263,572 241,770 21,802
Xl 184,500
Al 79,072
308 NXIEHSOIA 263,572 0 263,572
Xl 184,500
Al 79,072
10 2|2 SHCHSHE A A S A 263,572 0 263,572
OMDAMOF HY22ALXR 263,572,000 263,572
Xl 184,500
Al 79,072
A0 ALHENAS 5,487 7,493 A 2,006
J| 4,389
& 330
Al 768
201 gEt2H Y| 1,857 1,856 1
J| 1,485
& 112
Al 260
01 AP 2t 2] d| 1,857 1,856 1
O=E2 1,857,000 1,857
J| 1,485
= 112
Al 260
307 S12t0| & 899 4,605 N 3,706
J| 719
= 54
Al 126
01 s =t 899 0 899
oYXl A OIS & &Y 899,000& 899
J| 719
& 54
Al 126
308 XNXIGHMSO0lI& 2,731 0 2,731
J| 2,185
& 164
Al 382
10 2| 2SHUSHE A X HE A ] 2,731 0 2,731
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SN EHBAL
HE: AYSH
e 240 Ots2 H2LAE RS (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OgK0t HA2AHX 2,731,000 2,731
J| 2,185
= 164
Al 382
NMMOIE 2t E 24 A 5,427 5,500 ANT3
J| 2,713
& 1,357
Al 1,357
201 et | 367 440 ANT3
J| 183
& 92
Al 92
01 AP 2t 2] H| 367 440 ANT3
ORE AN (ZEE)HI 367,000 367
J| 183
= 92
Al 92
307 2Iz2t0| & 5,060 5,060 0
J| 2,530
& 1,265
Al 1,265
01 sd =t 5,060 5,060 0
O & AtHI 5,060,000& 5,060
J| 2,530
& 1,265
Al 1,265
Ol=s0F & A&H0|&0F 2 24| 119,126 92,955 26,171
J| 59,563
& 29,782
Al 29,781
307 QI2t0| ™ 119,126 92,955 26,171
J| 59,563
& 29,782
Al 29,781
o1 s R=dl 119,126 92,955 26,171
O0l=0F & AFH0IA0F 22HI XA
119,126,000 119,126
J| 59,563
& 29,782
Al 29,781
HAESE HAOIAMZE AN & &0ot2el 76,034 69, 343 6,691
J| 38,017
& 19,009
Al 19,008
307 giztol A 76,034 69, 343 6,691
J| 38,017
& 19,009
Al 19,008
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2N
X ZH -
L= B
el

sSoEAA
AYER
SED 0HS AL AE P

(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 sd =t 76,034 69, 343 6,691
O S HAIO| A AF & EHOF2t2l
76,034,000 76,034
J| 38,017
& 19,009
Al 19,008
E=R28204+3 1,540 1,390 150
J| 770
= 385
Al 385
308 AHXIEHMSOIA 1,540 0 1,540
J| 770
== 385
Al 385
10 2|2 SHHSHE A X CHEH A H 1,540 0 1,540
OE=2NHEAHEH 1,540,000 1,540
J| 770
= 385
Al 385
LIl S 2T AN 426,228 309,072 117,156
J| 213,114
= 106,557
Al 106,557
101 21 214| 29,338 0 29,338
J| 14,669
& 7,335
Al 7,334
04 JIZtHI22XNSES 29,338 0 29,338
OHUEER I BXQolEH| 29,338
OelAdl 28,638,000 * 1H 28,638
J| 14,319
= 7,160
Al 7,159
OY & 5| 200,000 * 23| 400
J| 200
= 100
Al 100
O=2XNEE 300,000 = 13| 300
J| 150
=} 75
Al 75
307 QI2t0| & 396,890 309,072 87,818
J| 198,445
& 99,222
Al 99,223
o1 s R=t| 396,890 309,072 87,818
OM24+=AA=H| 323,400,000 323,400
J| 161,700
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2N
X ZH -
L= B

el

soB2AA
AYER
SHI OtSC AL AERE

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

©
e
0
4
04
=
I
=S

73,490,000&

H

Al

y

H

Al

80,850
80,850
73,490
36,745
18,372
18,373

J|

H

Al

37,500
18,750
9,375
9,375

37,500

307 glztol &

Jl

H

Al

37,500
18,750
9,375
9,375

37,500

ongEUME

(]

|24l A& 37,500,000&

= M

37,500

37,500
18,750
9,375
9,375

37,500

HAEE JIMAH ZM27 NEBAMS

= W

93,724
46,862
23,431
23,431

93,724

308 MHXItHMS0IH

= N H

93,724
46,862
23,431
23,431

93,724

93,724,000

= M W

93,724

93,724
46,862
23,431
23,431

93,724

1o
12
1]
o

H

Al

53,927
6,175
3,021

44,731

39,389

14,538

0lo

sz

39,106

36,032

3,074

101 Q124 4]

34,406

31,632

2,774

04012t 22 HsE+
OSa T

O
re
Y
=
o
&
~
S
S
i

3 o« 28 « 262 ~ 108

= 30,368,000& * 3.035%
& 922,000& * 6.55%
= 30,368,000& = 4.5%

34,406
34,406
30,368
3,238
922

61
1,367

31,632

2,774
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SN sEEAA
HE: AYSH
Sl oot atel CERED
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
-NE88 30,368,000 * 1.5% 456
-AMIHEE 30,368,000& * 1.42% 432
OY ZE I 200,000& * 2% x 23| 800
201 2Et24Hy| 4,700 4,400 300
01 AP 2t 2] H| 4,700 4,400 300
oOx2x ¥ S=SHX UE, EE=S
1,000 = 2,000 2,000
onss TH ARE(HE £)
90,000& * 304 2,700
ozll&d & ANE=&EH 3,000 2,000 1,000
201 LBt Y| 2,000 1,000 1,000
01 AP 22| H| 2,000 1,000 1,000
OMNAHDI2ZS Y SHAL EEBS2
1,000 = 2,000H 2,000
202 04| 1,000 1,000 0
01 2L HI 1,000 1,000 0
OLAHHl, ot & & =&Y 1,000, 000& 1,000
N2 DVATER E 1,321 1,357 A\ 36
J| 925
& 396
307 giztol A 1,321 1,357 A\ 36
J| 925
& 396
o1 s R=Hl 1,321 1,357 A 36
OsS=s2A=HE 1,321,000 1,321
J| 925
== 396
NSHAsSI &XKH 10,500 0 10,500
J| 5,250
o= 2,625
Al 2,625
307 212t0| & 1,500 0 1,500
J| 750
o= 375
Al 375
01 s =l 1,500 0 1,500
OXNSHAMsSI 234 1,500,000 1,500
J| 750
= 375
Al 375
405 XHAHFEIEHI 9,000 0 9,000
J| 4,500
= 2,250
Al 2,250
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SN BHBAL
Bu: AYET
chel: oleraa) (el @2)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
01 et ESFH S 9,000 0 9,000
OXNsHAMSI 2 3,000,000& * 3CH 9,000
J| 4,500
< 2,250
Al 2,250
HE2IZH(ELE2AHL) 840,063 783,905 56,158
el 2 699,615 611,249 88,366
ol Al 699,615 611,249 88,366
101 1Al 699,615 611,249 88,366
01 2= 161,257 151,096 10,161
OgeHA 161,257
OznI24Y
, 3323 x 30AI2F + 48 « 128 161,257
02 JIEtA 2 == 93,386 109,017 A 15,631
O LEHA DI I 2,797
Oozuz22=¢
11,6543 = 20AI2F = 1H « 123 2,797
ORI E 11,158
OxzHU2Zf=+E
9,298 * 50AI2t » 28 * 123 11,158
OBER UM 79,431
Oxn2R4+Y
6,851& = 4Al2t » 8 + 128 2,631
OSSEHYAN I 2SHHS
800,000& = 8% = 128 76,800
03 RIAHAZ 22+ 444,972 351,136 93,836
(©eiFal-] 444,072
Ooget RIIAHA 150,051
-184 Xt 28,974,330& E 28,975
-15@ Xt 26,991,180& ) 26,992
-134@ Xt 25,669,080& A 25,670
-10E Xt 23,685,930 E 47,372
-64 Xt 21,041,730& A 21,042
O=E=¢ 13,680
—bi < Xt 40,000& = 14% = 128 6,720
-JIEHLE 20,000 = 29% = 12& 6,960
OxzH2Zf=E
,100& » 20A12t = 16 = 12& 34,944
OAR=< 20,767
-2Bt IIAHA2Z 2L
30,296,430 / 3652 * 6Y * 202 9,961
-8 RIAAZZ2X
19,719,630& / 3652 » 10 = 20 10,806
O= &l 130,000& = 169 = 123 24,960
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SN BHBAL
M. HMSAHH(EEEHA)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OuWEH| 130,000& * 16Y = 123 24,960
oz2s5=4¢ 34,725
-8t I <22 X}
150,048,000& * 10% 15,005
-S& RIIAHA2Z A
197,196,300& * 10% 19,720
OJFA X & Hl 175,000& * 16Y = 123 33,600
(OPGERIPNE=; 382,800 * 9Y = 43| 13,781
OY ZE I 34,725
-8t 2] %22 X
150,048,000 / 128 = 60% * 23| 15,005
-S g RJIHs2=2 X
197,196,300 / 128 = 60% * 23| 19,720
O4HEE JI&232<2 57,879
AU 543,248,450& * 3.035% 16,488
“HIUEE 16,488,000& * 6.55% 1,080
-=0lHA= 543,248,450& * 4.5% 24,447
-1E2YE 543,248,450& * 1.5% 8,149
“MTHEE 543,248,4503 * 1.42% 7,715
on=sd(2xda4=2) 900
OZ2CXZ A 24222 A
90,000& = 10 900
=l 140,448 172,656 ~32,208
JlE23Hl 140,448 172,656 N 32,208
201 et A b 58,408 47,456 10,952
01 AFR22t2ldl 51,184 40,412 10,772
oJl2gesdasdY (II=ZY])
25,000,000& 25,000
o3gdl(JIE&H]) 25,200,000 25,200
oNEREZ 984
O=2 X 15,000 = 2JHAF = 128 360
ORI K] 13,000 * 40 A x 128 624
02 35249t 7,224 7,044 180
oRH2 7,224
O gt 2703 » 800 * 12& 2,592
O&II 1,930& * 200 * 12& 4,632
202 0db] 74,040 76,200 AN2,160
01 2LHOHI 36,720 38,880 N2,160
OPJES ] 36,720,000& 36,720
02 XN H| 37,320 37,320 0
oolorReia NTHE £
170,000& + 39 = 12& 6,120

- 104 -




SN BERAL
H: HH2IAH(ELGEHL)
& 123l (&)
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
CEENEIEEERIETS
20,000& = 10& * 13F * 123 31,200
203 YR =&l 7,400 14,000 A 6,600
02 AP 2= 2,000 2,120 A 120
OFAJtatY =& 2,000
OJl&EH 40,0003 = 509 2,000
04 REN2ELRZ=LH| 5,400 5,580 A 180
OPIEE: 5,400
O30¢! Ol ot 350,000& = 123 4,200
0302 =t 5,000& = 20 = 12& 1,200
405 RHoHF S HI 600 35,000 A 34,400
01 et EZFH S 600 35,000 A 34,400
OthlssglN(dga) 600,000& * 1CH 600
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= o
A & 0l & AF 2 E A A
20169 = =0 &k LEAH HEEAL EAF MY ~ F EN
SN HEEAA
HE: AYSH
Chelt BRAC B AIMIIYRE CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
FARAL 7,045,094 6,429,446 615,648
= 178,544
Xl 191,880
J| 2,254,123
< 764,033
Al 3,656,514
Pl = 6,420,021 5,771,764 648,257
= 178,544
Xl 191,880
J| 2,254,123
< 764,033
Al 3,031,441
SHAS AL = 821,111 782,165 38,946
= 16,000
< 12,930
Al 792,181
M2 MHA 23 178,350 81,108 97,242
101 @124l 147,070 15,818 131,252
04 JIZHHNZ2Z2XNSE+ 147,070 15,818 131,252
OS2l & X2 AL 129,866
Ol 250,000 = 2% * 262 * 93 117,000
Q4 2EII 223 12,466
=03 117,000,000& * 4.5% 5,265
-A2=EE 117,000,000& =+ 3.035% 3,551
- 3,551,000& * 6.55% 233
-1EEE 117,000,000& * 1.5% 1,755
“MTHEE 117,000,000& * 1.42% 1,662
OZ & Fotyl 200,000 » 2% = 13 400
Oz K& 2tz 17,204
Ol 58,400% = 1% » 262 = 102 15,184
C42EII 223 1,620
-=0H=z 15,184,000& * 4.5% 684
-A2EE 15,184,000& * 3.035% 461
e 461,000& * 6.55% 31
-MHEE 15,184,000& * 1.42% 216
-1ESE 15,184,000& * 1.5% 228
OFE=FtHI 200,000& = 1H =« 23| 400
201 Let24d] 9,420 25,130 A 15,710
01 At 22l 9,420 23,930 A 14,510
oO%Hy 2= 60& = 4,0000H 240
OBAMA QIH(35) 11,0008 * 2005 * 3= 600
OMEIINE FH+=2 60,000& = 123 720
osclxzd, st 24 600
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2N
X ZH -
L= B

el

RPN
AL =X
BA2Z Al

=y

2

i

SN HH-S(BN) - MBAY - B il HlnE2
OMNE2HaE M 200,000& = 33| 600
o1l =l 4,110
O3=2HAA 90,000& = 89H 720
OodgXd & dza2A 90,000& = 359H 3,150
OFEAZZE 120,000& » 1H « 23| 240
O3EEBHIAAMN 22U ZE
300,000 * 204 * 48 2,400
O Xl CH o ZZIH MZ 150,000& * 5% 750
202 odl 8,160 12,960 A 4,800
01 2UH 8,160 12,960 A 4,800
ogs HE N HH
20,0003 = 2 * 2% » 12& 960
OS5 OAF JIEZ HI
20,000& = 5 * 6H * 123 7,200
203 YR =] 1,000 0 1,000
03 AIMZFAH S Z=AY| 1,000 0 1,000
OEAHAY ZR2F2A 1,000, 000& 1,000
301 gL = 1,000 1,000 0
01 A3l EE E 56l = 1,000 1,000 0
O&FJIIJIZE MEX |23  1,000,000& * 1H 1,000
307 glz2tol & 11,700 26,200 A 14,500
01 922724l 11,700 26,200 214,500
odzd 2¢ 4,200
OB65MI01 & ol &8 Xt &2 ekt
1,200& * 2,000 2,400
oA 900,000& 900
Ox2E 900,000 900
osterzlgsy 24 6,000
OA%E 4,500,000 4,500
Ox2E 1,500, 000& 1,500
o=2cigd 29 1,500
o= 1,000,000 1,000
Ox2E 500,000& 500
4L 23 278,956 277,066 1,890
101 124 dl 40,617 26,479 14,138
04 JIZHHZ2XREES 40,617 26,479 14,138
OFLAE 2y 28,582
oel 48,2803 * 2% * 26 « 103 25,106
C4U2E J12243 2,676
- A= 25,106,000& * 4.5% 1,130
-HYEH 25,106,000& * 3.035% 762
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SA: HASAL
=

B AYBA
Crel: RAARAAIIYRE (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
&)Y 762,000€ * 6.55% 50
-N288 25,106,000& * 1.5% 377
-MTHE S 25,106,000& * 1.42% 357
OY &=t 200,000& * 29 = 23| 800
O=2clXsd 29 12,035
OZ22lXZ A 2182
58,400 * 1¥ x 1802 10,512
O4HEE J|&232=2 1,123
-=20132 10,512,000& * 4.5% 474
-HAEE 10,512,000& * 3.035% 320
- RYEBEE 320,000& * 6.55% 21
-1E8E 10,512,000& * 1.5% 158
-MES 10,512,000& * 1.42% 150
OY ZE I 200,000 = 1¥ = 23] 400
201 et | 225,339 200,587 24,752
01 At 22l ] 86,744 81,680 5,064
OBAHAMIHE S I oM
10,000& * 508 * 23] 1,000
OLIAMNIBE ZEHEY 4,400
Ooraa 2,420
- ot 220,000& * 1& * 53] 1,100
==l 330,000 * 4F * 13| 1,320
oxz A 220,000& = 1& * 53 1,100
Oolekate| ol d It 220,000 * 4F = 13 880
ORIAANIRE SAEX 840
Ooraa 21,000& * 262rA 546
oxz A 21,000& * 102+ A 210
Oolekzte| o113 It 21,000& * 48+ A 84
oM 85 7Y 1,770 = 3000 ~ 12& 638
oY% &2yl 35,000& = 6 » 12& 2,520
O3st& Al &K 35,700& * 100 = 43| 1,428
OSHEEIS 28,600& * 1000 * 43| 1,144
odlol 22yl 35,0008 = 6 ~ 128 2,520
OFEAEE & ¢ 300,000 = 43| 1,200
OXAIMEN ME BAHA EA HE A 2,504
ORXZF=2te e WA 520,000 * 34 1,560
o= 03 £ 2X=2Mh L
300,000 = 3K 900
O2=s 0l8E e A 44,000 * 1JH 44
O2H2 29 MM HE =2 68,550
OfRoZ3HEdY 11,280
-824A 140,000& = 1A = 128 1,680
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SN BHABAL
Bu: AYEH
©e: B AL RS (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-NA, &dlga 80,0008 x 1004 + 123 9,600
02 HINBAN 422
130,000& = 18 = 204 260
Os2I SEB2| U8 248
130,0008 = 20K » 128 3,120
OFI| SHEAA +42
1,000,000& * 1A + 13 1,000
OFI| otEze| el =22 10,080
B4 480,000& * 1A = 128 5,760
224X A 120,000& = 304 » 12 4,320
OLYANE EZF U =2
340,000& * 1A = 128 4,080
Oag otdze|t s S=HI
200,000& = 1H 200
Odtx=HMel =+=52(XA, I2L)
150,000& = 40 « 12 7,200
OLPGAIEAIE EIIZA ==&
30,000& = 13l 30
OEM EAE2A =2
1,650,000& » 104 « 123 19,800
OZZg oY At &Y =2
300,000& = 53| 1,500
OHJI2 HMeldl 10,000
-QZHIIE dNEHD F
200& = 2,000%& 400
-2g4d HIIE HMel =8 4,200
SRa 100,000 = 1A = 12 1,200
XA, AEA
25,000 = 1002 = 128 3,000
—H ==X el 450,000 * 1A + 128 5,400
02 =224l 138,595 118,907 19,688
o2z &4l ®Aldl 1,000,000& * 5CH 5,000
OFAAE S X 11,182
OE2HA(54016t) 1,222 = 4,403.39m 5,381
(O)=FaPNES 2,447
-540lot(U==,=0l)
1,222 = 1,054.26m 1,289
-25| 0| ot (2 &) 4,040 * 286.39m 1,158
O)-FaFSE=F 3,354
-5 0IGH(1IH A) 1,222& * 186.6M 229
-10= 0l Gk (200 &) 2,280& = 331.93m' 757
-15E 01 5k (390 2 ) 2,968& =+ 593.03m’ 1,761
-20= 0l ak (100 &) 3,549& = 170.99m' 607
03323 2 HA 60,360
(OFsPIRTA=; 3,000,000 * 12& 36,000
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SN HEBAL
Ha: AYSH
EEEENEREEE cHol )

SA - FE - BI(EA) - NRAY - By 0l b SSa DS
Ofdt=Ee= 400,000&  12& 4,800
(O FS 4=, 1,600,000 * 12&8 19,200
Osde&l 30,000& * 123 360
OEdZz & 5,530
OxgeEsg=s ¥ UHSXA 600,0008 = 9K 5,400
OJtAALD HHAHA S H 30,000& = 13l 30
OMSAESI HHaHLYES
100,000& * 13l 100
O X=Xl 46,664
OsE 4,908,000 = 4CH 19,632
Osg 6,551,000& =+ 3CH 19,653
Ozt 4,299,000& * 1CH 4,299
O+=x 3,080,000& =+ 1CH 3,080
OAHZHI (EHA BE ZAH)
9413 = 800 = 3E 2,259
OA&EHl Sl 7,600
Odue)] FAUESHI(EHEA 2§ 7,600
-22AHA(51) 95,000& * 51CH 4,845
-S2AX A (290H) 95,0003 = 290K 2,755
401 AIEHI L 2 0] 11,200 50,000 238,800
01 Al&HI 11,200 50,000 38,800
OEAHIZ A AMEIMH 11,200
OFst2HT2 A HIY 24 BA
2,300,000 = 1004 2,300
OdotEHTZ A 0IFE &X SAM
6,900,000& * 1JHA 6,900
OgeleEddss &g ZA
2,000,000& = 10024 2,000
405 TtabH S| 1,800 0 1,800
01 et EZFH S 1,800 0 1,800
OAHZHEMS 2 Ot 1,800
OHT(HSEX X&) 800,000& =« 104 800
Oalll, E§XME 1,000,000 = 1MIE 1,000
e 29 134,914 151,433 A 16,519
B2 HH| 30,604 38,963 A 8,359
A2 22l H] 6.300 10,350 4,050
OMNEES ¥ 200,000 = 32 =+ 23 1,200
OEA~ESE 7¥ 200,000& = 324 * 23 1,200
OZglH EUW 220,000 * 28 * 3 » 23] 2,640
O&=D| 2eltl 30,000& = 34 + 435 360
OA=SE o4l 90 = 10,000& » 1HAx « 13 900
02 23=24gHl 24,304 28,613 24,309




2N
X ZH -
L= B

el

HT Y ok
Y oM o
10 Q) HT

A
bS]
ENEBIEEE

SA BB O () - MM - HES 0l &+ o4 il
03323 % HA 23,400
ONIIe3 2 A « 128 21,600
(GRS = 3IML + 128 1,080
ORrdgs 3IMA + 128 720
OdZHI (ARA-23) * 320L * 3 904
307 2Iztol A 102,960
01 2L F =4l 102,960
O W= 6,000
Oogera = 3,000
-5 2,000,000& 2,000
-ABE 1,000, 000& 1,000
Oostgd = 3,000
%S 2,000,000 2,000
-AR2E 1,000, 000& 1,000
o02E 3,000
Oogerd = 3,000
%= 2,000,000& 2,000
-A2E 1,000, 000& 1,000
O=S0l (s AX ) 93,000
Oogera = 90,000
-5 89,000,000& 89,000
-ABE 1,000, 000& 1,000
Oostgd = 3,000
%S 2,000,000& 2,000
-ARE 1,000, 000& 1,000
oscxzd 2 (U & 960
Oo&sE 400,000& 400
OLEZ 560,000& 560
405 THobH S| 1,350
01 AL EFH S 1,350
=710 #+< 200
OXNsSELAH(SO0 200,000& =« 1CH 200
OAMRI1Dl 7L 1,150
OAMNREIH(LH 300,000& =« 3CH 900
O&zsHELI(H 250,000& = 1CH 250
AR ARY 175,125
201 L2l 63,275
01 At 2t 2| Hl 18,480
oOMRES 72 * 7+ 23] 2,800
O0EAEE P¥ * 7+ 23 2,800
OZelH EH 220,000& * 28 * 74 + 13 3,080
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SN BHABAL
Bu: AYEH
Crel: RAARAAIIYRE (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
CEESIEDLI 30,0008 » 70h%~ « 12" 2.520
OFEE HA+42 100,008 * 7742 700
O£= PANE L HIIE5 S=Y)
100,008 * 7742 700
OFAXBA SAHOIS ALY
30,000 * 14 * 704 + 23 5,880
02 =224l 39,370 45,874 N6,504
03322 % HA 39,370
Oo&IIe3 400,000& * 70 » 128 33,600
O=&EL23 25,000& = 7oA + 128 2,100
OdsRa3(22E) 20,000& = 123 240
ORrdYgs 20,000& * 74 + 12& 1,680
Oi&EE= 250,000 * 7oA 1,750
03 A2 S HI 5,425 4,900 525
CHZESIEZZIOHY 23 5,425
OZ M= 50,000 = 108 * 70024 3,500
O=9, WEXM 55000& = 53] » 7= 1,925
301 gt a= 4,200 10,780 A 6,580
1MIIEBESS 4,200 4,900 A 700
OLANRL 2HHOSY BELY
50,000& * 74 + 123 4,200
307 gl2tol & 106,400 103,400 3,000
01 222l 106,400 103,400 3,000
OCrZAE 98,000
Oz A 8,000,000& 8,000
Ogel2ddza 17,000, 000& 17,000
Oscl2Hd8= A 8,000,000 8,000
Od4g2HAZ A 12,000, 000& 12,000
Ogst2Hd g A 17,000, 000& 17,000
Oxst2HAZ A 8,000,000& 8,000
OZF¥EAHAZ A 28,000,000& 28,000
OUAZADE(BYAE FEX)
300,000& * 704 * 43 8,400
405 TtabF S| 1,250 1,820 A570
01 AL EFH S 1,250 1,820 A570
OAR D121 1,250
OZSMAMEII(IHA) 1,000,000& * 1CH 1,000
OXBHLI(FE) 250,000& = 1CH 250
BUHIE HESRH Ex =S 1,400 1,400 0
< 420
Al 980
201 Let24d] 1,400 1,400 0




SN HRABAL
HE: AYSH
ool BHAZ AL RS )
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o e 2
< 420
Al 980
01 At 22l 1,400 1,400 0
=1 =H| 200,000& = 79H 1,400
< 420
Al 980
BAHARZ A B2XoE KA 28,366 25,564 2,802
= 8,510
Al 19,856
101 @124l 28,366 25,564 2,802
< 8,510
Al 19,856
04 D12t 22 HEE = 28,366 25,564 2,802
oBxold o8y 28,366,000 28,366
< 8,510
Al 19,856
SHESHAS AU A W& ALY 24,000 0 24,000
= 16,000
< 4,000
Al 4,000
405 XHobF S HI 24,000 0 24,000
= 16,000
< 4,000
Al 4,000
01 AL EZFH S 24,000 0 24,000
OBHAMAX S (SE 22,500,000& = 1OH 22,500
= 15,000
< 3,750
Al 3,750
oYz FHH(HSEL 1,500,000& * 104 1,500
= 1,000
< 250
Al 250
MaEs= A2 X210 1,090,479 1,184,593 A94,114
= 8,715
J| 524,543
< 115,959
Al 441,262
A2 S A 30,202 21,901 8,301
101 @124l 30,202 21,901 8,301
04 JIZHHZ2XNSE+ 30,202 21,901 8,301
OXNGAS SSUHZETAY & XNAASSHS
A HIA 30,202
OSHAASTANY L XNAASSAIAYI
AJ2Rgd3 (1Y) 22,502
=23 211,200,000& * 4.5% 9,504




SA: HASAL
=
o

MY AYEX
el 4B AU CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
-NE88s 211,200,000 = 1.5% 3,168
-AAdEE=2 211,200,000 * 3.035% 6,410
- QYEE = 6,410,000 * 6.55% 420
-AMIEE 2 211,200,000 = 1.42% 3,000
O=2XNEAE 300,000 = 11&H 3,300
OY & s0ty| 200,000& = 11"¥ * 23| 4,400
Lol OXI(ELI)AY 26,029 33,777 AT ,748
J| 13,014
= 3,905
Al 9,110
307 QI2t0| & 26,029 33,777 AT ,748
J| 13,014
o=} 3,905
Al 9,110
01 22232 =H| 26,029 33,777 NT,748
O9 XL AFE 22| H| (20H) 26,029,000 26,029
J| 13,014
& 3,905
Al 9,110
MOfMED|] AU AKX 3,047 4,444 A 1,397
J| 2,438
Al 609
201 gEt24y| 222 388 A 166
J| 178
Al 44
01 AP 22| H| 222 388 A\ 166
OEEH| 1,000 = 2225 222
J| 178
Al 44
308 MXISHMSOIA 2,825 0 2,825
J| 2,260
Al 565
10 B 2SO USAEAXNDE A 2,825 0 2,825
©2Z22 20422 XH(BHOAMI ,66M) 2,361,000 2,361
J| 1,889
Al 472
OdlF & A AE(BHE5~18AI1) 464,000 464
J| 371
Al 93
BN 74,925 90,000 A 15,075
J| 37,462
& 11,239
Al 26,224
101 2121 | 5,500 5,500 0
J| 2,750
& 825




- _ _ RE]
CEE B (BH) - HBRAY - BAS %Eﬁ HR=2
Al 1,925
04 JI2ZtHI22 XS 5,500 5,500 0
oY HAXALH 5,000,000& = 1 5,000
Jl 2,500
o= 750
Al 1,750
o402 =2 5,000,000& = 10% 500
J| 250
& 75
Al 175
308 XHXIGH SO0l & 69,425 0 69,425
J| 34,712
& 10,414
Al 24,299
10 21 2S00l O &t 69,425 0 69,425
o & &yl 17,356,250 * 43| 69,425
J| 34,712
& 10,414
Al 24,299
S22 HL2 10,894 15,372 N4 478
= 8,715
= 654
Al 1,525
308 MXISHMSOIA 10,894 0 10,894
= 8,715
=} 654
Al 1,525
10 SIS0t 10,894 0 10,894
o9z20 =3 10,894 ,000& 10,894
= 8,715
& 654
Al 1,525
X o=H A 152,450 150, 802 1,648
J| 76,225
= 22,867
Al 53,358
307 2Iz2t0| & 152,450 150,802 1,648
J| 76,225
== 22,867
Al 53,358
01 sd =t 152,450 150,802 1,648
OE X oS HI A 152,450,000 152,450
J| 76,225
= 22,867
Al 53,358
NS A2 R A 46,294 43,646 2,648
J| 23,147
Al 23,147




= - — SHE|
A+ ZE S (3A) - HRA - By S e Hl D= 2t
202 Od4dl 500 500 0
J| 250
Al 250
01 =LHOHI 500 500 0
OXNGAS A2 AL K HI 500,000& 500
J| 250
Al 250
307 21201 A 45,794 43,146 2,648
J| 22,897
Al 22,897
05 RIZt2IEt = 45,794 43,146 2,648
OXISArE 242X AbHI (896%) 45,794,000 45,794
J| 22,897
Al 22,897
NEAte] SSAZSEAY 506,258 629,032 AN122,774
J| 253,129
< 50,626
Al 202,503
101 @14 dl 301,511 344,420 A42,909
l 150,756
< 30,151
Al 120,604
03 RIHAZ 22+ 189,861 179,570 10,291
ORI HAZZ2 X C12AH (9H) 186,891
O4z= 21,279,630& » 2H 42,560
J| 21,280
< 4,256
Al 17,024
o3z = 20,618,580& * 7H 144,331
J| 72,166
< 14,433
Al 57,732
(OFSEgel = INE= .l 240,000& = 99H 2,160
J| 1,080
< 216
Al 864
ORI HLZZ X TI=HI(98) 90,0008 » 9Y 810
J| 405
< 81
Al 324
4 DIt ZE2EXNESES 111,650 164,850 A 53,200
OSEAZSIAY JI2ZHIE X el 104,000
(@RIl 1,600,000& * 5% * 123 96,000
J| 48,000
< 9,600
Al 38,400
O&8 A= 1,600,000& * 5% 8,000
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SA: HASAL
=
o

Bu: AYEH
SR MEx H2XI|D| (&2 &)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
== 150
Al 600
OALE BB 2AZIAY T2 )H2A
1,000,000& 1,000
J| 500
== 100
Al 400
OXNAAMNISATEANH 2,500,000 2,500
J| 1,250
o= 250
Al 1,000
202 044l 7,000 9,000 A 2,000
J| 3,500
& 700
Al 2,800
01 2L Y| 7,000 9,000 A 2,000
OSEALSTANA2Y 0H 7,000,000 7,000
J| 3,500
== 700
Al 2,800
307 QI2t0| & 143,747 201,412 N57,665
J| 71,873
= 14,375
Al 57,499
01 s R=Hl 143,747 201,412 NB7,665
OHLMEAMAY HAILA2S 1,139,680& 1,140
J| 570
< 114
Al 456
OFRLYUET YL ARERY 10,000,000& 10,000
J| 5,000
== 1,000
Al 4,000
ounEZ HEH L oM P2
20,000,000& 20,000
J| 10,000
< 2,000
Al 8,000
OYUEHA BEEAEH|
65,000& = 130¥ * 128 101,400
J| 50,700
& 10, 140
Al 40,560
O EZEE el At 3,207
O2ANsEAE & ADRE 1,850, 000& 1,850
J| 925
== 185
Al 740
OOt & & X ¥ sH&Hl 23,0008 * 599 1,357
J| 678




SA: HASAL
=
o

g ALsd
Sl MEs A2 XII) (S &2)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
=) 136
Al 543
OXWEINZETE U 2HAA
80,000& = 100€ 8,000
J| 4,000
=) 800
Al 3,200
SSAE0UE I = A 4,452 4,452 0
J| 2,226
S 2,226
307 21201 & 4,452 4,452 0
J| 2,226
< 2,226
01 222l 4,452 4,452 0
OSSAMEMY JI=& At 4,452 ,000& 4,452
J| 2,226
< 2,226
ZSUWESIO FAHIXA 2,124 2,115 9
=) 1,062
Al 1,062
307 glztol & 2,124 2,115 9
=) 1,062
Al 1,062
01 92724l 2,124 2,115 9
OZSHEZSIE AHI (599) 2,124,000 2,124
< 1,062
Al 1,062
TAASI S SHAMEA 233,804 172,702 61,102
2l 116,902
< 23,380
Al 93,522
101 @124 4] 115,650 100,271 15,379
J| 57,825
< 11,565
Al 46,260
04 JIZHHZ2XNSE+ 115,650 100,271 156,379
OHaEAN & SHAAMAIE S el 108,000
Oy 1,600,000& = 5% » 12& 96,000
J| 48,000
< 9,600
Al 38,400
O&l &= 2,400,000& « 5¢& 12,000
J| 6,000
=) 1,200
Al 4,800
(OFSEyel =M= 240,000 » 5% 1,200
J| 600




SA: HASAL
=
o

Bu: AYEH
el MBS AU CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 120
Al 480
QJI2HZ2=2 X 1l =4l 90,000& = 59H 450
| 225
< 45
Al 180
OME2YE ESZHEAHI 100,000& = 5H = 12& 6,000
| 3,000
< 600
Al 2,400
201 LBr2EH| 72,254 33,580 38,674
| 36,127
< 7,225
Al 28,902
01 At 2t 2l 70,754 32,380 38,374
O2dAI EE2 2 Isls S(BHEER
A WH) 40,600,000& 40,600
| 20,300
= 4,060
Al 16,240
Oz HAIY 225 13,154,000& 13,154
J| 6,577
= 1,315
Al 5,262
Oz=92cld & M Ml
1002 * 48 * 5,000& 2,000
J| 1,000
< 200
Al 800
ozddEXt J1gs +< 50,000& = 3004 15,000
| 7,500
= 1,500
Al 6,000
03 A2 Z Hl 1,500 1,200 300
Oz=¥u=s ZAH & T8 2234l
50,000& =« 303l 1,500
| 750
< 150
Al 600
202 oddl 2,400 2,400 0
| 1,200
< 240
Al 960
01 2 0i bl 2,400 2,400 0
OzHYRFE Ol 2,400,000 2,400
J| 1,200
= 240
Al 960
301 L2 A Z 13,500 0 13,500
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SN BRBAL
HH: ALEZ
Sl B A LRI (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Jl 6,750
< 1,350
Al 5,400
11IIEBEAS 13,500 0 13,500
SUNTH 2Y2 ()
50,000& = 3H » 90 13,500
J| 6,750
< 1,350
Al 5,400
307 glz2tol & 30,000 20,001 9,999
J| 15,000
< 3,000
Al 12,000
01 22724l 30,000 20,001 9,999
Os3HEXHM +< 20,000& = 1,500H 30,000
J| 15,000
= 3,000
Al 12,000
29y 2AMAHARS 3,027,387 2,841,582 185,805
2 100,968
J| 1,285,122
< 407,945
Al 1,233,352
L AL ALY 121,822 99,263 22,559
101 @124l 25,122 16,593 8,529
04 JI2ZtHZ22HEE =+ 25,122 16,593 8,529
OYAASE JIZHMI2Z X Al
54,050 * 2% * 210 22,701
OgIASE JIANZZ2XN JI2E2EES 2,421
O=0d= 22,701,000& * 4.5% 1,022
CnE:2Ez 22,701,000& * 1.5% 341
OHLEE= 22,701,000& * 3.035% 689
OFIIRAEEE 689,000& = 6.55% 46
OMHEE = 22,701,000& * 1.42% 323
201 LB-2E| 2,100 2,080 20
02 2322l 2,100 1,500 600
oYAA=ZHI = AL 300,000& = 7CH 2,100
206 M= Hl 94,600 80,240 14,360
01 Sl 94,600 80, 240 14,360
OYAAZ(ZLBHEH S 45) 76,800
(O)=RaE 30,000 = 14 * 43 = 21004 25,200
OXtsYdAc 30,0008 = 14 * 45 = 10004 12,000
Ogrga 30,000& = 14 = 1,3200H 39,600
oOgAESE (XY= 45)S  100,000& * 5& 500
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SN BRBAL
Bu: AYEH
Helr Z2ZE 2eMAT= (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHSBEXIIN(ZSII) 900,000& =« 10CH 9,000
O&EANI MEJ 288 &HME 24
30,000& * 1004 300
OBBIILAS HLSILMOITNS 15)
4,000& = 2& * 1,0004 8,000
ZEgael 192,797 194,162 A 1,365
101 124 dl 25,388 22,075 3,313
4 JI2tHZ22XEES 25,388 22,075 3,313
OQE=UI HEZHS R 5,004
O2tS At 58,4003 * 49 » 15 3,504
OO0l & 2 A 300,000 » 1Y = 5 1,500
CdMNA2H 17,204
O atdHelAb Q1A
58,4003 = 26 = 1H » 103 15,184
C42E= 1,620
-HALEERE = 15,184,000& * 3.035% 461
I RYBERES 461,000& * 6.55% 31
B R 15,184,000& * 4.5% 684
-NIE2EERgE3 15,184,000& * 1.5% 228
-MIHEERE = 15,184,000& * 1.42% 216
OZFEFItHI 200,000& * 23 400
OUHLEESSSHH 25 J2RY3 3,000
OFaRz k= 1= 21,556,000& * 3.035% 655
OFIILEE= 655,000& * 6.55% 43
O30z 21,556,000& * 4.5% 971
ons=sg 21,556,000& * 1.5% 324
Ot HESH 21,556,000& * 1.42% 307
O=XEAE 300,000& » 1H 300
OFESFtHI 200,000& = 1H « 23| 400
o=l 90,000& = 29H 180
201 L2l 10,954 8,002 2,952
01 A2 22| 9,994 6,922 3,072
ongzssy 249 4,034
OTBH 2L2E(HXNER 45) 4,034,000& 4,034
oz g2 500& * 2& * 1,000% 1,000
ouol=zuY 2= 1,000&8 » 23 = 1,000 2,000
OAHZs HELII EE2 1,000& * 1,00004 1,000
OgAMNEY 2 960
OZANHI =LY SEHx=2
20,0003 = 3H =« 43| 240
OEHHM 2 38 15,000& = 4& = 128 720
OMHTHMHUEY E2HA HPEE SEdHx2
500,000& * 23 1,000
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SN BHABAL
Bu: AYEH
ool 2 BRAWNTS (ol @)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
02 =224l 960 0 960
OZZYHNIDNE SHRB
40,000 * 2CH = 128 960
307 21201 & 156,455 154,135 2,320
NEEEEET 133,255 130,935 2,320
O EISE AL 105,485
ONYHZAB(BHALL 55)
71,135,000& 71,135
OFAAHS AEFAT XA 32,000
- SR AR A 8,000& = 1,600 12,800
-9 EIl2 B Al
12,000& * 1,600 19,200
OHEHZAZE 222 (F AL 48)
2,350,000 2,350
OZANAE2Y 27,450
O3 T ALAIS 90,000& * 90t A 8,100
OHY (s, MOI=S)ZAF Al
90,000& = 65%rA 5,850
OJIetE el E A 90,0003 = 1508+ A 13,500
OLAEA2H 320
Oglgol &= Jt2 40,000 » 8¢ 320
05 RIZtelEt = 23,200 23,200 0
Ogtulg 2| 23,200,000& * 1JH =2 23,200
st HE X 2el X & 20,712 24,540 A 3,828
= 10,356
& 10,356
301 gt d= 20,712 24,540 A 3,828
=2 10,356
< 10,356
01 MI2EZE 06z 20,712 24,540 N 3,828
oSt Z X MAH X 1,726,000 ~ 12Y 20,712
= 10,356
= 10,356
stlld a3 MEHEHXSH 31,200 31,200 0
= 15,600
Al 15,600
307 glztol & 31,200 31,200 0
= 15,600
Al 15,600
02 It HAMAEE 31,200 31,200 0
Ot B3 MEtFXE 31,200,000 31,200
< 156,600
Al 15,600
SHEIQITII G Ab 4 Il oH Xt 44 2 X & At 68,400 57,600 10,800
= 68,400
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SN BRBAL
Bu: AYEH
Ce: 2g9Y AeMHRS (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
301 et A= 68,400 57,600 10,800
= 68,400
01 Al E & A 462 68,400 57,600 10,800
OstMIQI T GH AFA I oH A ME X &
150,000& = 38Y * 12& 68,400
= 68,400
olol= & AYoe 10,128 9,663 465
J| 5,064
< 1,519
Al 3,545
307 2Iz2to| & 10,128 9,443 685
J| 5,064
< 1,519
Al 3,545
01 s =t 10,128 9,443 685
Oulol= &X &= 7,252,000 7,252
J| 3,626
= 1,088
Al 2,538
odoizaEy 28 € XS 876,000 876
bl 438
o=t 131
Al 307
OOl =& Al 20H 2,000,000& 2,000
J| 1,000
o=} 300
Al 700
=20 2 E S A A 2,525,436 2,373,234 152,202
J| 1,262,718
& 375,484
Al 887,234
101 2121 d| 22,202 21,556 646
J| 11,101
Al 11,101
04 JIZtHIZ22XNSES 22,202 21,556 646
ONYHE S=HEH 2 (2500)
22,202,000 * 1H 22,202
J| 11,101
Al 11,101
307 QI2t0| & 2,503,234 2,351,678 151,556
J| 1,251,617
= 375,484
Al 876,133
o1 s R=Hl 2,503,234 2,351,678 151,556
OUHE 00 ESA A 2,128,506,000& 2,128,506
J| 1,064,253
& 319,275
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AN FEABAL
Bu: AYEH
ool 2 BRAWNTS (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 744,978
OHANLESA A 365,636,000 365,636
J| 182,818
< 54,845
Al 127,973
OBE Y F=4tJ1ZE Gl ALY 9,092,000& 9,092
Il 4,546
< 1,364
Al 3,182
280 ALY 34,680 28,028 6,652
J| 17,340
< 4,986
Al 12,354
101 @14 Hl 400 0 400
J| 200
< 60
Al 140
03 RIHAZ 2T E =+ 400 0 400
O n=H| 400,000& 400
J| 200
< 60
Al 140
201 2yt 2 Y| 1,940 2,500 A 560
J| 970
< 291
Al 679
01 At 22l 1,940 2,500 A 560
O==24dl & AHMbEISH 1,940,000 1,940
J| 970
< 291
Al 679
202 O4dl 1,440 1,440 0
J| 720
Al 720
01 =LHOHI 1,440 1,440 0
oOax@cttel EE XA 120,000& » 12& 1,440
J| 720
Al 720
301 YU B A 2,000 3,000 A 1,000
J| 1,000
< 300
Al 700
01 MEIBEE 263 2,000 3,000 A 1,000
OYJATEA MAHHIXA 2,000,000& 2,000
J| 1,000
< 300
Al 700
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SN HRABAL
g ALsd
Sl ey BRANHTS (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 28,700 21,088 7,612
J| 14,350
< 4,305
Al 10,045
01 22272l 28,700 20,988 7,712
Ogod =X A 6,600,000& 6,600
J| 3,300
= 990
Al 2,310
OYATHEI L&AH XA 3,000,000& 3,000
J| 1,500
< 450
Al 1,050
OFAANE 23 & HF=2HHE 5,100,000 5,100
J| 2,550
< 765
Al 1,785
OZHA S I A 2,000,000& 2,000
J| 1,000
< 300
Al 700
OZHBGHA & AHH XA 12,000,000 12,000
J| 6,000
< 1,800
Al 4,200
308 XtXIEHH SOl A 200 0 200
J| 100
< 30
Al 70
10 SII 2SO CHetZ & = 0 & A& I 200 0 200
OFEYJAZ =X AH SEHAE= 100,000& 100
J| 50
< 15
Al 35
OgorIg=ZHAF AL SEHAES
100,000& 100
J| 50
< 15
Al 35
B REUAY EEAA 18,720 19,800 A1,080
2 18,720
202 O4dl 200 300 A 100
= 200
01 = LH 4 Hi 200 300 A 100
oczaEZy H=2Al &30WHl  200,000& 200
= 200
307 21201 A 18,520 19,500 A 980
= 18,520
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SN HRABAL
MY AYEX
Sl ey BRANHTS CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
05 RIZHRI & 3 18,520 19,500 A 980
ooz Ea2ZAldl& oAyl
17,320,000& * 1JH £ 17,320
= 17,320
oOczaE2dy E=ZAJ& MK
1,200,000 * 1JH 2 1,200
= 1,200
ZEHEANAHE 2= 3,492 3,492 0
= 3,492
201 £B-2dH| 3,492 3,492 0
= 3,492
01 At 22l 3,492 3,492 0
OZEEHEEI n=tl 3,492,000& 3,492
= 3,492
ZHANS P L HLEE =4 527,063 399,081 127,982
J| 163,565
< 62,254
Al 301,244
JaEA 5,000 7,450 A2,450
201 Let24E] 5,000 5,400 A 400
01 At 22l 2,000 3,400 A 1,400
O=sE=SHZ 1,000& = 2,000% 2,000
03 A2 S HI 3,000 2,000 1,000
OFAAZSE E N2 IE2E LA
| 200,000& = 153 3,000
UM EHANE 29 107,075 99,398 7,677
< 2,141
Al 104,934
307 21201 A 107,075 99,398 7,677
< 2,141
Al 104,934
02 QB AAFEX 107,075 99,398 7,677
OAMEI=SHAILE 2 107,075,000& * 1JH 2 107,075
= 2,141
Al 104,934
gEAL2el 26,430 26,430 0
201 £B-2%| 2,000 2,000 0
01 At 22l 2,000 2,000 0
os=28 M= 1,000& = 2,000% 2,000
307 glz2+ol & 24,430 24,430 0
01 22724l 24,430 24,430 0
oY= At 24,430
OLZHI (LML 65) 11,0008 * 2,000H 22,000
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SN HEBAL
Ha: AYSH
o9l o2HONE PE Y ALY X4 o HE)
= - 4 14
SA - B .G (3AH) - MBAY - BES %Ei HR=2
OLDE(EdHAEQ 8F) 27,000 = 904 2,430
ST KA (RHDHL) 8,215 8,215 0
J| 4,107
= 1,232
Al 2,876
201 2Et24Hy| 1,400 0 1,400
J| 700
= 210
Al 490
01 AP 22| d| 1,000 0 1,000
O=EEZ2 HZ& 1,000,000 1,000
J| 500
& 150
Al 350
03 &AL EH| 400 0 400
OMIILEI ANHEL2Y 29 200,000 * 23| 400
J| 200
= 60
Al 140
307 QI2t0| ™ 6,815 7,915 A 1,100
J| 3,407
& 1,022
Al 2,386
o1 szt 6,815 7,915 A 1,100
O%E L AZEH| 6,815,000 6,815
J| 3,407
& 1,022
Al 2,386
XA EHAEHESA 8,286 8,286 0
c 415
Al 7,871
202 044l 286 286 0
o 15
Al 271
01 2L I 286 286 0
OXg 2 =20l 286,000 286
= 15
Al 271
307 giztol A 8,000 8,000 0
& 400
Al 7,600
o1 s =t 8,000 8,000 0
OXoheXE JIIMAH 2 45 8,000,000 8,000
= 400
Al 7,600
X OH X222l H K& (2 HH|) 60,000 25,994 34,006

- 128 -




SN BRBAL
Bu: AYEH
CHelr ARHANE PE U AABY =4 (el:de)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Jl 30,000
< 9,000
Al 21,000
308 XXM SOl A 60,000 0 60,000
J| 30,000
< 9,000
Al 21,000
10 B2 SO BAHH A 60,000 0 60,000
OXIOH XIzdl XI& 60,000,000& 60,000
J| 30,000
< 9,000
Al 21,000
XX SsSMHEXJ AtS 43,140 28,140 15,000
< 8,628
Al 34,512
307 21201 A 43,140 28,140 15,000
< 8,628
Al 34,512
01 927 24| 43,140 28,140 15,000
OXIHeX =SsHEXA 43,140,000& 43,140
< 8,628
Al 34,512
AU L E S A 2= H K& 258,917 185, 168 73,749
J| 129,458
< 38,838
Al 90,621
308 AHAIEHHSOIA 258,917 0 258,917
Jl| 129,458
< 38,838
Al 90,621
10 B2 S0t B & XA 258,917 0 258,917
O AHHUXLEEI 24| 258,917,000& 258,917
J| 129,458
< 38,838
Al 90,621
Mg Ezd 29 10,000 10,000 0
< 2,000
Al 8,000
201 LBt 10,000 10,000 0
< 2,000
Al 8,000
03 & Ar2 I 10,000 10,000 0
CoXNME=E2I)H 23 10,000, 000& 10,000
< 2,000
Al 8,000
St Ots2 H2ZAs & 934,160 556,486 377,674
= 46,861
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SN HRABAL
HE: AYSH
& 240 ots2 HLAE & (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 191,880
J| 279,968
= 161,549
Al 253,902
SAEAAS 9,680 9,680 0
201 Ler24E] 2,000 2,000 0
01 At 22l 2,000 2,000 0
ORAEAH itz & 222 MH
500& * 2,0008 * 2& 2,000
307 gl2tol & 7,680 7,680 0
01 222l 7,680 7,680 0
oYMTF & ARO0F LM X
6,400& = 1,2009H 7,680
FAELME JAEL O/FH XA 4,422 4,423 A
J| 2,211
< 1,105
Al 1,106
308 XM SOIH 4,422 0 4,422
J| 2,211
< 1,105
Al 1,106
10 B 2SotHet B & XA 4,422 0 4,422
OFAHAR JAEL ZHIXR
4,422,000 4,422
J| 2,211
< 1,105
Al 1,106
MZAMOLA L 22l AL X E A 274,114 161,180 112,934
Xl 191,880
Al 82,234
308 XX EHH SOl A 274,114 0 274,114
Xl 191,880
Al 82,234
10 S 2SoteBaH A 274,114 0 274,114
O A MOt 2 22| ALRI & 274,114,000 274,114
Xl 191,880
Al 82,234
FHO0F A2 ZEAY 5,485 7,492 N2,007
J| 4,389
< 329
Al 767
201 L2l 1,856 1,856 0
J| 1,485
< 111
Al 260
01 At 22l 1,856 1,856 0
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SN HEBAL
Ha: AYSH
e 24 Ots2 H2AAE 28 (2 &HH)
- _ _ RE]
CEE B (BH) - HBRAY - BAS %Eﬁ HR=2
OAIE =2 4| 1,856,000& 1,856
J| 1,485
= 111
Al 260
307 QI2t0| ™ 899 5,636 N4 737
J| 720
& 54
Al 125
o1 o=l 899 1,033 N 134
OYLE 2aot=s 899,000& 899
J| 720
o=t 54
Al 125
308 XAHXIEHSOIA 2,730 0 2,730
Jl 2,184
= 164
Al 382
10 2|12 SHHsHE & 2,730 0 2,730
O & &gl 2,730,000 2,730
J| 2,184
& 164
Al 382
AAMOF H2AHE A A 5,091 3,667 1,424
J| 2,546
= 1,273
Al 1,272
201 et | 367 294 73
J| 184
& 92
Al 91
01 AP 22| d| 367 294 73
ORE AN (EE)HI 367,000 367
J| 184
& 92
Al 91
307 2Iz2t0| & 4,724 3,373 1,351
J| 2,362
o= 1,181
Al 1,181
01 s =l 4,724 3,373 1,351
O & AtHI 4,724,000 4,724
J| 2,362
= 1,181
Al 1,181
=0} & AFHO0lA0F 9 94,480 61,969 32,511
J| 47,240
& 23,620
Al 23,620
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SN HEBAL
Ha: AYSH
QHY 0ts9 H2LAZ P2E (2 &HH)
- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
307 2Iz2to| & 94,480 61,969 32,511
J| 47,240
& 23,620
Al 23,620
01 e =t 94,480 61,969 32,511
O0l=s0F & dFH0I4
94,480,000 94,480
J| 47,240
= 23,620
Al 23,620
SESAIO A Z AN & B 64,154 46,228 17,926
J| 32,077
== 16,038
Al 16,039
307 2Iz2to| & 64,154 46,228 17,926
J| 32,077
& 16,038
Al 16,039
01 sd = 64,154 46,228 17,926
OHAES HAIOI A AN X oF2t2|
64,154,000 64,154
J| 32,077
& 16,038
Al 16,039
E=28204+F 1,540 1,390 150
J| 770
o 385
Al 385
308 AXIEHSOIA 1,540 0 1,540
Jl 770
& 385
Al 385
10 2|1 2S00 OHsHE & 1,540 0 1,540
OE=2NHEBAHSH 1,540,000& 1,540
J| 770
=} 385
Al 385
HAE2XRA 343,971 206,047 137,924
J| 171,985
& 85,993
Al 85,993
307 gizto| A 343,971 206,047 137,924
J| 171,985
& 85,993
Al 85,993
o1 s R=Hl 343,971 206,047 137,924
OM2A+=HAl=H| 280,280,000 280,280
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2AM: N

X{ XH -
S =

el

FO Y ok
0x 0¥ {0

BN H
oy

FS2l A A

2

tor
il
m
0
[P
10

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

140,140
70,070
70,070

63,691,000& 63,691

J| 31,845

15,923

15,923

©
e
0
4
04
=
W
o=
ol I

=

e

0

QAR ozl XA 37,500 0 37,500
18,750
9,375
Al 9,375

X

307 glztol & 37,500 0 37,500
Il 18,750
9,375
Al 9,375

H

01 =73l 37,500 0 37,500
ONAAELLE 2AZHXA 37,500,000& 37,500
Jl 18,750

9,375
9,375

= M

HASEE JIMA, ZHE2F NEAMG 93,723 0 93,723
46,861
23,431
23,431

= M W

308 XM S0 93,723 0 93,723
46,861
23,431
23,431

= W

CH & AF R B 93,723 0 93,723

93,723,000 93,723
46,861
23,431
23,431

= N H

1o
12
1]
o

19,821 7,857 11,964
6,000
Jl 925
3,396
Al 9,500

H

H

ggllAs 8L 6,000 3,000 3,000

201 2Et2d

| 5,000 2,000 3,000

| 2,000 2,000 0

1,000& * 2,00004 2,000

03 AH2 S Hl 3,000 0 3,000

300,000& = 10& 3,000
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ve

2N
X ZH -
L= B

el

1oy o
Jo oY o
ol HT

oAy

2Hm
==
£l
Ol
0y

ir
x
i

CHE - EI(BA) - NRAY - BYS 0l &k o4

=

202 Oddl 1,000 1,000 0

01 =W OIHI 1,000 1,000 0
OAHl, ot &= & E&F0H 1,000,000& 1,000

010

(il
10
Hu

500 3,500 A 3,000

N
2
e
e
Mo
02
=

500 200 300

(e)
>
e
o]
[=s

©
4 10
P
He
0l
il
_>‘|_|
ﬂ
EJ
H0
Ofon

500 200 300
=DN =1
,0

1,0008 » 500% 500

N2 OMAT2

1
0

02
w
=

,357 A 36

r
0

Il 925

m
)
%]
>

307 21201 & 1,321 1,357 A 36
Il 925

in
w
©
(e}

2
10
fu
He
1
U
o=
wW
~

,357 A 36

©
0l0
w
10
o)l
z
Im

1,321,000& 1,321

n X
)
©
&

NHSHAMSI EXX& 12,000 0 12,000

= M W
w
o
S
IS

307 &

S
(=)
>
w
o
o
o
o

3,000

= H W
~
(&)
o

0

-

SIEHREH 3,000 0 3,000
OXSHAHSI 2SHI 500,000& * 6H 3,000

=z N H
~
I3
o

405 Xl

S
4
Jn
==

9,000 0 9,000
4,500
2,250
2,250

Z W

01 X

>
He
Mo
O
BN
Jn
=

9,000 0 9,000
3,000,000 = 3CH 9,000

4,500
2,250
2,250

©
pal
o
2
>
o
=

=z N H

o2
0
Mo
02
0y
=
o
o
N
v
b

625,073 657,682 A 32,609

el 2 511,431 542,236 A 30,805

ol 2| 511,431 542,236 A 30,805

101 1Al 511,431 542,236 A 30,805
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2N
X ZH -
L= B

el

ro gt o4
19 02 0

CEIPS
AL (BaRAL)
S|

SA - ZE-B(EA) - NRAY - B S il &t o il
01 B4 134,381
CEEE P
9,332& = 40 * 30Al2t = 128 134,381
02 JIEH A 2+ 79,504
OZE2HANEZE8SEHS S
800,000& = 8H  12& 76,800
OZEEHAAN =22+ 1,266
Ot 11,0723 = 2 * 4AI2F « 5 443
o=+ 6,852 * 6H * 4A|2 » 5 823
OFAZE U222
7,984 = 1H x 15A12F » 123 1,438
03 RIAHAZZRHE > 297,546
O2cI XIS A, 2SS A 2SS ES AL 146,851
od=s(ota) 87,473
-3¢ Xt 19,058,580& * 1H 19,059
-6%4 Xt 21,041,730&  1¥ 21,042
-9¢1 Xt 23,024,880& = 1H 23,025
-1 X 24,346,980& * 1H 24,347
Ooi=Es=¢ 6,240
-t < Xt 40,000 * 3% = 128 1,440
-&Edl % 20,000& = 138 » 12& 3,120
oW PNIE 30,000& = 2H =123 720
AWM AHE OtatE2 80,0003 + 19 « 123 960
OxW2R>(HHE FL22)
9,100 = 4H » 15AI12F = 123 6,552
OAR=< 83,0004 * 4%H » 20 6,640
OZFEFOItHI 1,094,000 * 49H » 23] 8,752
Oun &t 130,000& * 4H = 123 6,240
O= &l 130,000& = 4H » 12& 6,240
OzZ2s5+% 183,000& * 4H = 123 8,784
OXtHSdHIExY  382,5008 * 198 = 43 1,530
OIJtA X &bl 175,000& = 48 = 123 8,400
C4EE JIARES 15,470
O=2d3 145,191,000& * 4.5% 6,534
(OFaRzg-8= 145,191,000& * 3.035% 4,407
O&IIR 4,407,000& = 6.55% 289
OnE:d 145,191,000& * 1.5% 2,178
Ot NEE 145,191,000& * 1.42% 2,062
OsgddsS ALY 134,865
O4UEE JIa8E3 30,621
B = 287,399,000& * 4.5% 12,933
-HAEH 287,399,000& * 3.035% 8,723
I 8,723,000& * 6.55% 572
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SN BHABAL
MY BHSAAH(BEBAL)
chel: ol gyl CEEEED
DA HB B (EH) - MBAY - BAS o A o SSa H RS2
-1E2YE 287,399,000 * 1.5% 4,311
“MTHEE 287,399,000 * 1.42% 4,082
Oons=< 5,520
- < At 40,0003 = 59 = 12& 2,400
-=Hl = 20,000 » 10 = 12& 2,400
-Al T Xt 30,000& * 2% x 12& 720
OZ2 bl 130,000& » 9¥ x 12& 14,040
OXHsH 8 xE 382,500 * 1Y x 43| 1,530
OxW4G (A, 52422)
9,100& * 9Y = 15A12F = 128 14,742
Og &=yl 960,280& * 9Y * 23| 17,286
OIFAH X & Hl 175,000& = 9 = 12& 18,900
o=2s52Y 160,050& * 99 « 12& 17,286
Od X< 83,0008 » 9¥ x 20¢ 14,940
OLl=H (EA/AM=) 90,000& = 494 360
| 2 2Z& bl 113,642 115,446 N 1,804
Jl2&l 113,642 115,446 N 1,804
201 LEt2 A Y| 44,502 40,306 4,196
01 AR 22| I 40,876 35,876 5,000
OJl2gdRsa8 A 19,048,000& 19,048
o3gdl(JIE&Hl) 20,664,000 20,664
ojREFR=EE 1,164
O=2 X 15,0008 * 38 * 128 540
ORI K] 13,000& * 482  12& 624
02 35244l 3,626 4,430 N804
oRE2 3,626
Ogt 270& * 12,000 3,240
O&II 1,930 * 200 386
202 04t 62,640 67,440 AN 4,800
01 2LHOHI 28,080 28,080 0
©J|=Z&Hl 28,080,000& 28,080
02 40 H| 34,560 39,360 A 4,800
OMAESEA AN 34,560
OoatRAA XNEChs MY
170,000& » 39 x 12& 6,120
Osig Y428 H =& g HNH|
170,000& » 198 = 12& 2,040
OSHXY U2EAH =& HNH|
200,000& * 11 * 12& 26,400
203 ¥R =&H| 6,500 7,700 A 1,200
02 RO R =X 1,640 1,720 A 80
OFJAINMNY R =AY 40,000& * 41Y 1,640
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&) 30
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0 0

2N
X ZH -
L= B

=)
R0
H
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el

<

n0

Kio

Hl w

A 120

H3r
Wikd
RIS

4,980

Off &t 24

4,860
4,860
4,200

660

128

2 x

350,000

t

¢}

O30¢el ol

o« 118« 128

o
=

5,000
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